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Question Number : 1 Question Id : 97675517987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following series :
6Q09, ,20Y23,27C30

Options :

1. ¥ 13016
2. % 12815
3. % 10T12
4. % 135817

Question Number : 1 Question Id : 97675517987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faferRad e & Jud ue I e

6Q9,  ,20Y23,27C30
Options :

1. ¥ 13016

2. % 12815

3. % 10T12

4, % 13817

Question Number : 2 Question Id : 97675517988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the wrong term in the following series :
MJ, QN, US, YV, CZ

Options :
1. % QN
2. %YV
3.% CZ
4. ¥ US

Question Number : 2 Question Id : 97675517988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad e | Tdd g J1d &y

MJ, QN, US, YV, CZ
Options :
1. % QN
2. % YV
3.% CZ
4. ¥ US




Question Number : 3 Question Id : 97675517989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
HPT : EMQ :: RUD : ?

Options :

1. ¥ MSC

2. % ORA

3. ¥ PND

4, % MTC

Question Number : 3 Question Id : 97675517989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAHed T 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo JhR ¥ 3R UG Ugd Ug ¥ Hafed g
HPT : EMQ :: RUD : ?

Options :

1. % MSC

2.+ ORA

3. % PND

4. % MTC

Question Number : 4 Question Id : 97675517990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the pair that is related on the same basis to the pair given in the question.
Needle : Tailor :: ?

Options :

1. # Leather : Cobbler
2. ¥ Saw : Carpenter

3. % School : Teacher

4. ¥ Wood : Carpenter



Question Number : 4 Question Id : 97675517990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS BT I B S 0% H &1 715 ol W JHH PR F Fafdd 3|
ﬁ'sc:?{\_fﬁ::?

Options :

1. % gHST: "t

2. HT\PIGE_S;

3. % UTSYIel : fRigih

4, #® aﬁa?.r‘s‘

Question Number : 5 Question Id : 97675517991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If JACKAL is coded as 11-2-4-12-2-13, then what is the code for TIGER?
Options :

1. % 19-12-10-8-17

2. % 20-9-7-5-18

3. ¥ 21-10-8-6-19

4, % 22-11-9-7-20

Question Number : 5 Question Id : 97675517991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G JACKAL B 11-2-4-12-2-13 % U 8 Bifed 61 741 5, Al TIGER & 1T IS 182
Options :

1. # 19-12-10-8-17

2. % 20-9-7-5-18

3.9 21-10-8-6-19

4. % 22-11-9-7-20



Question Number : 6 Question Id : 97675517992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language

963 means flowers are beautiful
438 means beautiful and expensive
14 means expensive bag

What is the code for 'and'?

Options :
1.¥8
2. % 4
3.%3
4. %9

Question Number : 6 Question Id : 97675517992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T (Af3d Dl WM H

963 [ 3 Qf% flowers are beautiful
438 BT Y % beautiful and expensive
14 T 31’2f% expensive bag

'and' BT HIS I %?

Options :

1.¥38

2.% 4

3.% 3

4. %9

Question Number : 7 Question Id : 97675517993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If P $ Q means P is the brother of Q; P ! Q means P is the mother Q and P * Q means P is the son of Q, which of the following shows that W is
brother of Z?

Options :



L% W!IX*Y$Z
2 WH*X!IYS$SZ
3.8 WH*XSY!Z
4. # WIXSY*Z

Question Number : 7 Question Id : 97675517993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

$%$Qw&rﬁ%anlﬂ'§%;P!QW@[’JP,QﬁHﬁT%Gﬁ?P*QWH&%P,QW@ET%,W%@H!?@@?W%%W,ZW

Options :

.% W!IX*Y$Z
2. W*X!1YS$Z
3. ¥ WH*XSY!Z
4 # WIX$Y*Z

Question Number : 8 Question Id : 97675517994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Seema is taller than Yash; Aisha is taller than Seema; and Yash is taller than Wasim, who is the tallest among all?
Options :

1. # Seema

2. ¥ Aisha

3. % Yash

4. * Wasim

Question Number : 8 Question Id : 97675517994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gfe AT, =7 4 el §; SR, UHAT 3 dell g; SR I, 9T 4 | g, 39 9 § 9ad a1 dH 7

Options :



1. % A
2.9 IR
3. % gy
4. % gOIF

Question Number : 9 Question Id : 97675517995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Naina, Preksha, Yash, Uma, Esha and Gauri are sitting around a round table facing the centre. Preksha is between Uma and Yash, Gauri is
between Naina and Yash and Gauri is to the left of Naina. Who is to the left of Esha?

Options :

1. ®* Gauri
2. % Esha
3. % Uma
4. % Naina

Question Number : 9 Question Id : 97675517995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T, e, T, T, T 3R TR g B 3R g HP T Tl A & IRI 3R 98 & | NefT, SAT 3R T & g H 331 8, MY 1 R aw &
o H 93t 8 SR TR A1 & 18 3R 931 81 TR & 78 SR B 82

Options :

1. % TR

2. % TR

3. % 3HI

4. =0

Question Number : 10 Question Id : 97675517996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.



Statement 1 : All schools are books.
Statement 2 : No books are papers.

Conclusion I : No schools are books.
Conclusion II : Some books are schools.

Options :

1. % Only conclusion I follows
2. % Only conclusion II follows
3. % Both I and II follow

4. # Neither I nor II follows

Question Number : 10 Question Id : 97675517996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § & pY= feu U 8, forge o1 gl s [ 3R 11 fau 71U § 1 3imues! 39 HU=T &) et A1 8, Hal 81 I8 IrH=aa: J1d 9 I e uehd
g1l 39! g fAofg a1 & 3 fau 7 foesf & @ o019 1, afe 13 &), @ fiu e syt o | 3reRu a=ar 8|

YT 1. Gt UTSTATE fhdTs B
HYF 2: Big Y fhdg BT T8l B

Py 1 BIg H urSITaTt fhard et
frpY 11: $ fpare Ure=ad 5|

Options :

1. # $Had [T5HY [ 3IIRV Bl 8
2. ¢ Had (BT 11 SR Hal §
3. % 1 3R 11 G SER0 PR §

4. % 1 3R B II IR0 IRl §

Question Number : 11 Question Id : 97675517997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the question one statement is given, followed by two conclusions, I and I1. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement : 55% of Manisha's office colleagues went to watch the movie.

Conclusion I : Manisha went to watch the movie.
Conclusion II : Manisha did not go to watch the movie.

Options :

1. # Only conclusion I follows
2. % Only conclusion II follows
3. % Both I and II follow

4. + Either I or II follows.

Question Number : 11 Question Id : 97675517997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & T Sy fear T 8, o a1 gl s 1 3R 11 fau U § 1 3mueh! 39 HUAT &l et A1 5, Hd 81 I8 IrH=a: Jd 92 I fie
Ttd 811 3Taeh! g fAofg a1 § 3 fau 7 freesf & @ 19 1, afe 313 8, @t T T Syt & ¥ SreRu axar 8|

HYT: HAINT P 55% HIATAT b JghH! fhed e 7T |

fshY 1: T fihed < TS 2|
forsepef 11 Ao ftbe S A T
Options :

1. % Had (s [ 3IER0 R §
2. % P DY [1 STV BT §
3. % [ 3R 1 G SFERUI &R B

4. 11111 SAR0T IRl §

Question Number : 12 Question Id : 97675517998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which two signs should be interchanged to make the below equation mathematically correct?
16 x2+5-18+3=33



Options :
1. % x, =+
2. % + =
3.9 4+ -

4.% x, -

Question Number : 12 Question Id : 97675517998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fau 7T gHieRu o I8t 99 & forg food gl fagl &l 10T 20 ¥ IRER Sga-T argy?
16 x2+5-18+3=33

Options :
1% x =
2. % 4+
3.9 +, -

4. % x -

Question Number : 13 Question Id : 97675517999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the following number series:
128, 115, 103, 92,

Options :
1. ¥ 82
2. %75
3. % 68
4, % 72

Question Number : 13 Question Id : 97675517999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad e Sadr & &



128, 115,103,922,
Options :

1. ¥ 82

2. %75

3. % 68

4, % 72

Question Number : 14 Question Id : 97675518000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows the number of children in a complex who play a particular sport. How many children play Cricket as well as
Chess?

Cricket — — Basket Ball

A
()

— Chess

Options :
1. % 18
2. % 3]
3. %27
4.+ 15

Question Number : 14 Question Id : 97675518000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& T 371 3G U HI-9g & Sl 1 TS D! SR § ol T (R W Wi 5 | foba= 5 fobape o wry-my Reet oY W g7



fopire — /5) e e
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Options :
1. % 18
2. % 3]
3. % 27
4. 15

Question Number : 15 Question Id : 97675518001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aman walks 0.4 km east, then turns south and walks 0.3 km, then turns east and walks 0.7 km, then turns south and walks 0.5 km, and turns to its
right and walks 0.11 km. Where is he now with reference to his starting position?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 0.2 km north

2. 0.2 km south

3. 0.8 km north

4. 0.8 km south

Question Number : 15 Question Id : 97675518001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



W0.4km§aﬁ 3R Il g, fhR ST &t 3R g § 3R 0.3 km T &, TR Td &1 3R ST § 3R 0.7 km IadT 5, fhR Gfamor &t
3R GSa1 g 3R 0.5 km AT &, 3R 37U &8 3R ST 8 3R 0.11 km IAAT g | 30 RIS Rufq & T # 3@ a8 Fai g2

Note: For this question, discrepancy is found in question/answer. So,this

question is 1ignored for all candidates.
Options :

1.0.2 km 3t

2. 0.2 km GI&fOT

3. 0.8 km 3t}

4. 0.8 km SI&0T

Question Number : 16 Question Id : 97675518002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shubham jogs 3 km west, he then turns 45° to his left and jogs 2 km, he then turns 90° to his left and jogs 3 km, he then turns 180° to his right.
Which direction is he facing now?

Options :

1. # south-east
2. ¥ north-west
3. % south-west
4. # north-east

Question Number : 16 Question Id : 97675518002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HA 3 km UEH BT 3R ST 1 8, R 98 30N a8 3R 45° HSdT 8 1R 2 km ST BT &, TR 8 310+t 912 3R 90° Gl & 3R 3 km
ST T 7, fR a8 3o &T3 3R 180° ST ] | 3§ 3T Hg fha famm & g2

Options :

1. % gfaorgd

2. ¢ ITR-UEH

3. % glemuigy



4. % IRl

Question Number : 17 Question Id : 97675518003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which answer figure will complete the pattern in the question figure?
TR
? €«
Options :
M
1. ® ¥

2. ¢




Question Number : 17 Question Id : 97675518003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HF- IR AHA Y HA | foU U &1 T Haf

.
? “—»
Options :
N
1. % i




ﬂ
2.
=~
3. %
=
4. %

Question Number : 18 Question Id : 97675518004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third image on the same basis as the second image is related to the first image.

OO000 | ¢ | |e 2




Options :

1.
L |
2. %
3. %
4. %

Question Number : 18 Question Id : 97675518004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

I faded o7 T8 B o IR B W I THR I J&fid g Ford ThR I gO-) Bid uge id 9 Yafed g |

QOO0 2 . 7

Options :




Question Number : 19 Question Id : 97675518005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following cube in the answer figure cannot be made based on the unfolded cube in the question figure?

N
*
©

O

Options :

/\
O




2. %
0
3.¢
[ [/ /
AR
4. %

Question Number : 19 Question Id : 97675518005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR NPT H [ O 1 UY 3p T | el Ars TT T4 & HTYR W el S Sff Tl 82







0

©

of

Question Number : 20 Question Id : 97675518006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure patterns can be combined to make the question figure?

Options :



LR ;




Question Number : 20 Question Id : 97675518006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad # 9 o7 Tt SR 3PHid U &I Uy THid §H & ol SISt I Tl 82




4. ®

General Awareness
Group Number : 2
Group Id : 976755551
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness
Section Id : 976755981



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551134
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675518007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many forms of Shakti are worshipped during Navaratri?
Options :

1. * 10

2. % 8

3.9

4. % 7

Question Number : 21 Question Id : 97675518007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TaRIA & TR e & T Ul B Gl B It 52
Options :

1. * 10

2. % 8

3.9

4. % 7

Question Number : 22 Question Id : 97675518008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pavri Nach is performed by the Kokna tribe of which of the following states?
Options :

1. # Tamil Nadu

2. ¥ Mabharashtra

3. % Madhya Pradesh

4. # Qdisha

Question Number : 22 Question Id : 97675518008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 fod T & Sid-1 STl gRT ATast 1 fosa STl 82
Options :

1. % A ATg

2. ¥ HeRTY

3. % O e

4. % 3fifg=m

Question Number : 23 Question Id : 97675518009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following banks merged with the Indian Bank with effect from April 2020?
Options :

1. # Andhra Bank

2. % Canara Bank

3. * Punjab National Bank

4. ¥ Allahabad Bank

Question Number : 23 Question Id : 97675518009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3 2020 ¥ EfeTH o # Ffeiad o 9 ford d& &1 faea gam
Options :

1. ® 3fiy 9

2. % BRI IH

3. % USe ARHd o

4. ¥ SARIEIG S

Question Number : 24 Question Id : 97675518010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021, Indian Railways have prepared a National Rail Plan for India. The plan is to create a ‘future ready’ Railway
system by

Options :
1. % 2025
2. % 2026
3.9 2030
4. % 2028

Question Number : 24 Question Id : 97675518010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁ%@%ﬁuﬁw$&w,uﬂ?ﬂuiﬂéﬁw$mwﬂgﬁnwméﬂwﬁ%m b TRITR Y8 Yetd YuTTel!
|

Options :
1. % 2025
2. % 2026
3. % 2030
4, % 2028

Question Number : 25 Question Id : 97675518011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which among the following instruments is used to measure the wind force?
Options :

1. ¥ Anemometer

2. % Hygrometer

3. % Altimeter

4, % Galvanometer

Question Number : 25 Question Id : 97675518011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 forg IUHRUr &1 ITANT a1 9 &1 AU & g foeam Sirar g2
Options :

1. ¢ Ug-I-a7-ATdt

2. % 3fTgdraTdt

3. % gIdrETdt

4. % YRG!

Question Number : 26 Question Id : 97675518012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The members of chlorophyceae are commonly called algae.
Options :

1. % blue

2. % brown

3. % red

4. ¥ green

Question Number : 26 Question Id : 97675518012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FIRIBY &b T Bl AHHIR R AT HET AT 5|

Options :



1. % Yl
2. ® AR
3. % @
4. v QX

Question Number : 27 Question Id : 97675518013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Night Blindness is caused by the severe deficiency of which of the following vitamins?
Options :

1. # Vitamin B

2. % Vitamin A

3. % Vitamin D

4. # Vitamin C

Question Number : 27 Question Id : 97675518013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

it Fafefed # © fby e ot 1k i & sRU gl 5|
Options :

1. # faerfem B

2. ¢ faerfe A

3. % fqei®

4, % fdefd= C

Question Number : 28 Question Id : 97675518014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ancient name of the river is Vitasta.
Options :

1. ¥ Jhelum



2. * Beas
3. % Ganga
4. % Chenab

Question Number : 28 Question Id : 97675518014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tt T Ui A fIaear 21

Options :

1. ¥ S|

2. % N

3. % AT

4. % -4

Question Number : 29 Question Id : 97675518015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Kamet is the highest summit in the mountain range.
Options :

1. % Western Ghats

2. ¥ Zaskar

3. % Eastern Ghats

4. % Aravalli

Question Number : 29 Question Id : 97675518015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTC qdaHTal § 9ed Sl IR 5
Options :

1. ® yiget are

2. ¥ GIIRDY




3. % gdf g1e
4. % IRTA

Question Number : 30 Question Id : 97675518016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year 'Atal Pension Yojana' was launched?
Options :

1. % 2017

2. % 2014

3.9 2015

4. % 2016

Question Number : 30 Question Id : 97675518016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fed U= o ford ay § 3RE &1 T e
Options :

1. % 2017

2. % 2014

3.9 2015

4. % 2016

Question Number : 31 Question Id : 97675518017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Historian Vincent Smith has elevated in Indian history as the Napoleon of India.

Options :

1. # Kumaragupta I
2. # Chandragupta I
3. % Samudragupta
4. # Skandagupta



Question Number : 31 Question Id : 97675518017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

sfageR faie f{1Y 3 URd sfaga & P HRA & AU & U H ST So™T g |
Options :

1% GHRE |

2. % I I

3. TSI

4. % T

Question Number : 32 Question Id : 97675518018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Battle of Talikota fought?
Options :

1. % 1535

2.9 1565

3. % 1532

4, % 1558

Question Number : 32 Question Id : 97675518018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
difcepie &1 & B AST T UT?
Options :

1. % 1535

2.9 1565

3. % 1532

4, % 1558




Question Number : 33 Question Id : 97675518019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first king of the Rashtrakuta dynasty?
Options :

1. # Dhruva Dharavarsha

2. % Govinda I

3. % Krishna I

4. ¥ Dantidurga

Question Number : 33 Question Id : 97675518019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IYHC ISR BT UG AT DI UT?
Options :

1. % Yq yRAY

2. % a1

3. ¥ U]

4. ¥ giagH

Question Number : 34 Question Id : 97675518020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the director general of World Health Organisation as of February 2021?

Options :

1. # Margaret Chan

2. % Roberto Azevedo

3. % Tedros Adhanom Ghebreyesus
4. ¥ Christine Lagarde

Question Number : 34 Question Id : 97675518020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Thas] 2021 T 3y TTRT Y6 & AP HIF 22
Options :

1. % ATRE I

2. % Jqel 3oids!

3. ¥ TSI SYTIH USATH
4. % fpfeaams

Question Number : 35 Question Id : 97675518021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Playing to Win' is the autobiography of which of the following sportspersons?
Options :

1. ¥ Saina Nehwal

2. # Novak Djokovic

3. % Sania Mirza

4. #* Anil Kumble

Question Number : 35 Question Id : 97675518021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wi ¢ fa fafaiea & @ fora fare! o steAs T B
Options :

1. ¥ Qg1 Agdre

2. % FIqTb Sibiidd

3. % i firet

4. % 3 padl

Question Number : 36 Question Id : 97675518022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who won the Oscar award in 2020 for the performance by an actor in a supporting role?
Options :

1. # Joe Pesci

2. % Tom Hanks

3. % Brad Pitt

4. % Al Pacino

Question Number : 36 Question Id : 97675518022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eI UHST H A1 GRT UGRH o o1 2020 T 3HR [REBR food Sidm
Options :

1. % Sl U%h!

2. % TATH

3. ¢ dsfue

4. % Td yfeAl

Question Number : 37 Question Id : 97675518023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Schedule in the Indian Constitution is associated with Panchayat Raj?
Options :

1. % Eighth

2. % Ninth

3. ¥ Eleventh

4. % Tenth

Question Number : 37 Question Id : 97675518023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR Tfau™ & Fafiied i & 9 & 31 vard e ¥ J81 82

Options :



1. % 3M&ar
2. % gl
3. ¢ WRgdr
4. % gYd

Question Number : 38 Question Id : 97675518024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

49th Constitutional Amendment Act gave a constitutional sanctity to the Autonomous District Council in
Options :

1. % Tripura

2. % Sikkim

3. # Arunachal Pradesh

4. ¥ Meghalaya

Question Number : 38 Question Id : 97675518024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

499 HayTe TNy Srfif s A e fore aikee &1 U Haunfe Yidr ueq &1
Options :

1. ¢ QT

2. # fufded

3. % SUTES USRI

4. % HUAY

Question Number : 39 Question Id : 97675518025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has the record of the most wickets in career in One Day Internationals as of February 2021?
Options :

1. * Shahid Afridi



2. % Wagqar Younis
3. " Muttiah Muralitharan
4. % Wasim Akram

Question Number : 39 Question Id : 97675518025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRAX! 2021 TP U faadid SIaRTET # HIReR # walftie fade o &1 et Raple &2
Options :

1. % TMiEg SIS

2. % bR Y

3. ¢ T qRTeRA

4, % U fhH

Question Number : 40 Question Id : 97675518026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
will be hosting the International Olympic Committee's (IOC) session in 2023.
Options :
1. # Chennai
2. % Mumbai
3. % Kolkata
4. ¥ New Delhi

Question Number : 40 Question Id : 97675518026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2023 H SRTFT 3fcifties FAf T B ATt S|

Options :
1. % 99%
2. ¢ Tag



3. % PHIABI
4. % T3 faeetl

Arithmetic Ability

Group Number : 3

Group Id : 976755552
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 976755982
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551135
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 97675518027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A number when divided by 15, 21 and 24 leaves a remainder 1. What is the number?
Options :
1. ¥ 841
2. % 840
3. % 790
4. % 900

Question Number : 41 Question Id : 97675518027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15, 21 3R 24 T TIUIIRIT 81 TR T e A9 1 et 8 | el T 62
Options :

1. ¥ 841

2. % 840

3. % 790

4. % 900

Question Number : 42 Question Id : 97675518028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Meena sells 70 red marbles and 105 blue marbles in boxes without mixing such that each box has x number of marbles. What is the value of x?
Options :

1. % 70

2.9 35

3. % 30

4. % 45

Question Number : 42 Question Id : 97675518028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HHT 70 AT &9 3R 105 el & &1 o1 TAfa fobw ST & st &, For Ui Sia o x SRt & 6 81d & | x BT AF 1 82

Options :




1. * 70
2.9 35
3. % 30
4. % 45

Question Number : 43 Question Id : 97675518029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the least positive number that is exactly divisible by 7, 11 and 3?
Options :

1. ¥ 231

2.% 77

3. % 230

4. % 235

Question Number : 43 Question Id : 97675518029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y HH YTHS TS T SN 7, 11 3R 3 9 T ave 9 faursa &2
Options :

1. ¥ 23]

2.% 77

3. % 230

4. = 235

Question Number : 44 Question Id : 97675518030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are three light bulbs which blink at an interval of 3, 4 and 5 minutes. If they all start together, then in what time will they all blink together
again?
Options :

1. # 100 min



2. % 30 min
3. # 40 min

4. ¥ 60 min

Question Number : 44 Question Id : 97675518030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TemTRT Ied g S 3, 4 3R 5 e & SfaRTd R Juehd g | afg 3 9t v Ir T g1 &, <1 foo wiyg & 3§ it Uy e & gradhe
Options :

1. % 100 e

2. % 30 fiFe

3. % 40 fiHC

4. 60 fiFe

Question Number : 45 Question Id : 97675518031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jack has 4 types of candies in the ratio 2 : 6 : 9 : 12. He decided to distribute it among kids such that each get equal number of candies and of
only one variety. If he had a total of 116 candies, find the number of kids.

Options :
1. ® 20
2.¥29
3.% 4
4. % 6

Question Number : 45 Question Id : 97675518031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SH B UN2:6:9: 127F UM H 4 THR B ol ¢ | 39 g H 34 59 UHR [qdkd & &1 iy foran, i Ul & drel &) 9d
TReT 3R had U g fored ettt 81 afe 39 ura o 116 dat o, dt sl ot Tvedn 1 He |

Options :

1. % 20




2.4 29
3.% 4
4. % 6

Question Number : 46 Question Id : 97675518032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average weight of 40 girls is 40 kg and the average weight of 40 boys is 50 kg. What is the overall average weight?
Options :

1. ®* 40 kg

2.9¥ 45kg

3. % 50kg

4. * 60kg

Question Number : 46 Question Id : 97675518032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

40 TSfHaY BT T T 40 ke § 3R 40 ASH! BT 3 T 50 ke § | THY 3T IO T 82
Options :

1. ®* 40 kg

2. ¥ 45kg

3. * 50kg

4. % 60kg

Question Number : 47 Question Id : 97675518033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The total number of voters in a small town increased from 40000 to 60000 in a span of 5 years. What is the arithmetic average percentage
increase of voters per year in the time span?

Options :
1. * 16%
2. % 8%



3. % 12%
4.9 10%

Question Number : 47 Question Id : 97675518033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP DI WX W Adararstt o od Team 5 a8 @ 3afd H 40000 V TGHR 60000 B T3 | GHT 3fafe § Ufay a8 Herarshi &t siwmforda oiad
gfa=rd gfs Fm 82

Options :

1. % 16%

2. % 8,

3. % 12%

4.9 10%

Question Number : 48 Question Id : 97675518034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A number is increased by 25%. Two fourth of the original number is what percent of the new number so formed?
Options :

1. ¥ 40%

2. % 45%

3. % 50%

4. % 25%

Question Number : 48 Question Id : 97675518034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TSATH 25% D1 I1a B3 ¢ | T WA HI &l AITS, 75 W BT fda-T Uiia=Id 82
Options :

1. ¥ 40%

2. % 45%

3. % 50%




4. % 25%

Question Number : 49 Question Id : 97675518035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the selling price if three successive discounts of 10% is applied on an item marked at Rs 3000?
Options :

1. ¥ Rs 1800

2. % Rs 2100

3. % Rs 729

4. ¥ Rs 2187

Question Number : 49 Question Id : 97675518035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 3000 T F IR TH T TR 10% B! dIF ShiH® T ARLEIA g o [dehd Yed ol gRTT?
Options :

1. % 1800 %UC

2. % 21004

3. % 729%UU¢

4,9 2187300

Question Number : 50 Question Id : 97675518036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A 18 30% more than C and B is 20% less than C. What is the ratio of A : B : C?

Options :

1.% 11:7:10
2.%13:7:10
3.913:8:10
4. % 13:8:1



Question Number : 50 Question Id : 97675518036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, C Y 30% fH § 3R B, CH20% AT A : B : C BT U 1 g2

Options :

1. % 11:7:10
2.% 13:7:10
3.913:8:10
4. % 13:8:1

Question Number : 51 Question Id : 97675518037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two identical glass jars have milk and water in the ratio 3 : 1 and 5 : 2 respectively. If the mixture in the two jars were emptied out in an empty
bucket, what is the resultant ratio of milk and water in the new mixture?

Options :

1. * 31:15
2.% 41:17
3.% 41: 14
4. ¥ 41:15

Question Number : 51 Question Id : 97675518037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& T TN SR B AR 3¢ 1 3R 5 : 2 6 SJuTd H g SR U gia g | afe Jrett aTeet & &1 IR 3 THe01 &1 W1l & fean Jdn g, af e
foreror & g 3R Ut 1 uRomdt sruTa @1 /2

Options :

1. %31:15

2. % 41:17

3.% 41: 14

4.9 41:15



Question Number : 52 Question Id : 97675518038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The wheel of a small toy car has circumference of 30 cm. What is the distance it has travelled when the wheel has made 4.5 revolutions?
Options :

1. ¥ 135cm

2. % 120 cm

3. % 125 cm

4. % 150 cm

Question Number : 52 Question Id : 97675518038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T DI RIAH & HR & Ufdd Bt uRfY 30 cm B 1 576 URY A 4.5 TIHR A &, A1 SUD gRT {1t g2 a0 Bl 182
Options :

1. ¥ 135cm

2. % 120 cm

3. % 125 cm

4. % 150 cm

Question Number : 53 Question Id : 97675518039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are two trains travelling in opposite directions. Train 1 crosses train 2 in 20 seconds and a pole in 24 seconds. What is the length of train 2
if the length of train 1 is 192 m? The speed of train 2 is given as 36 km /hr

Options :

1. % 124 m
2. % 150 m
3.9 168 m
4. % 360 m



Question Number : 53 Question Id : 97675518039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I YeSaT fausita fe=m & g #r TE &1 ITTST 1, 20 Vb H XSS! 2 B 3R Uh U bl 24 Vb S H UR Hall @ | Tl ISt 1 Bt
AT 192 m & AN IHTST 2 B ASTS T 82 ITHTST 2 D1 A 36 km /hr B FAH TS &

Options :

1. % 124 m

2. % 150 m

3.¥ 168 m

4. % 360 m

Question Number : 54 Question Id : 97675518040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man and a child can do a work in 90 days, a woman and a child can do the same work in 60 days and a man and a woman can do the same
work in 45 days. How many days will be required to complete the work if all the three work together?

Options :

1. # 20 days
2. ¥ 40 days
3. % 30 days
4. % 25 days

Question Number : 54 Question Id : 97675518040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T G3Y 3R T &= 90 ol H Th HTH IR qhd ©, T AR 3R Th a1 60 el & 981 1 R Tohd ¢ 3R Th T3 3R U Afgan 45
&7 o 8t HTH B Tavd g | Al I TH 1Y HTH R & al BIH B IR HRA & o8 fban &1 &1 smaaesan g

Options :

1. % 20feq
2. ¢ 40 feq
3. % 30feq
4. % 25feq




Question Number : 55 Question Id : 97675518041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A metal sheet of dimension 44 cm % 20 cm was rolled such that its breadth is now the height of the cylinder so formed. What will be the radius of
the cylinder?

Options :

1. #* 14 cm
2.% 7cm
3. % 10 cm

4. % 21 cm

Question Number : 55 Question Id : 97675518041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

44 cm x 20 cm % fHT AT U U1 e &1 39 aRE W qebr QId) 1 U1 {3 36 ST AisTs, Rider o1 Sars 3| Ridsr o s @
gt

Options :

I. % 14 cm

2.9 7cm

3. % 10 cm

4. % 21 cm

Question Number : 56 Question Id : 97675518042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Meena decided to paint a hollow cone of height 20 m and radius 21 m. What will be the total cost of painting at the rate of Rs 15 per sq m?
Options :

1. * Rs 28700

2. % Rs 28710

3. % Rs 2900

4. * Rs 3000



Question Number : 56 Question Id : 97675518042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{1 20 m SaTs 3R 21 m BT & GRad W B Ue HR BT (A0l o) 15 3T Ul sq m &1 &R & UfET &) ot anra o1 g
Options :

1. # 28700 ®>UUd

2. % 28710%0U

3. % 2900 *UUg

4. % 3000 24Uy

Question Number : 57 Question Id : 97675518043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given pie chart shows the monthly expenditure of a man (in Rs 1000s).
What is the approximate percentage of the man's savings?



Expenditure

Options :
1. # 10%
2. ¥ 25%
3. % 20%
4. % 40%

Question Number : 57 Question Id : 97675518043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e urs =1 weh ufe b1 Hilkies @ ST § (1000s TUT H) |
fad &1 Ford BT AT UfTRId 182



Options :
1. # 10%
2.¥ 25%
3. % 20%
4. % 40%

Question Number : 58 Question Id : 97675518044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table shows the men and women ratio of a few countries.
Which of the given countries has the highest men to women ratio?

COUNTRY MEN WOMEN
a

HUMNGARY
INDIA
TAIWAN
BHUTARN

Mo (B |

5
1
4

Options :

1. ¥ Taiwan
2. # Hungary
3. #® India



4. % Bhutan

Question Number : 58 Question Id : 97675518044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frafaiad difereT $o 320 & gout 3R afgarsit & srurd & i 31
fau 7Ty 3= 7 & fhad gy § Al P SHUId Hed 3 &2

o Py | dAean
T 3 4
HNd 4 5
GIECIE] 3 1
H‘E-F‘l 2 4

Options :

1. ¢ digdlH

2. % GRI

3. % YRd

4. % Yo

Question Number : 59 Question Id : 97675518045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following graph shows the frequency of plant samplings in a nursery against height (in cm).



What is the approximate average height of all the plants in the nursery?

Frequency
o = M W B WU o, =] 03
i

15 25 35 45
Height

Options :

1.4 31 cm
2. % 30 cm
3. % 40 cm
4. % 45 cm

Question Number : 59 Question Id : 97675518045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafIRed I Te Uiu-aR & 1Y o 13 &1 SR d1 SdTs (em H) & IH AT |
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15 25 35 45

Options :

1. ¥ 31 cm
2. % 30 cm
3. % 40 cm
4. % 45 cm

Question Number : 60 Question Id : 97675518046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following bar graph shows the profit earned by company A in percentage over the years.
The profit in 2017 is more than the profit in 2016 by assuming that the revenue is same in both the years.




Profit
g

2016 2017 2018
Year

Options :

1. % 65%

2. ¥ 33.33%
3. % 50%

4. % 100%

Question Number : 60 Question Id : 97675518046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafRad SR 7Tt U=t A gRT st & yfa=rd o i @y &l g=ifar |
2017 HQAMY, 2016 F ATH I 3ifP §, T8 AFd g b Iora gl oot & 9HH B



50%

Ty
;

50%
40%
40% -
30%
20%
10%
0% -

2016 2;%3 2018
Options :
1. % 65%
2. ¥ 3333%
3. % 50%
4. % 100%
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Group Id : 976755553
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Group Marks : 20
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Question Number : 61 Question Id : 97675518047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

A priest uses the opportunity of the plague, / and invoking his god, preach refuge in religion / to overcome the deadly attack.
Options :

1. # A priest uses the opportunity of the plague,

2. % and invoking his god, preach refuge in religion

3. % to overcome the deadly attack.

4. % No Error

Question Number : 61 Question Id : 97675518047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the



option 'No Error'.

A priest uses the opportunity of the plague, / and invoking his god, preach refuge in religion / to overcome the deadly attack.
Options :

1. #® A priest uses the opportunity of the plague,

2. ¥ and invoking his god, preach refuge in religion

3. # to overcome the deadly attack.

4. ® No Error

Question Number : 62 Question Id : 97675518048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

As the time rolls by, rats in there thousands die and lie scattered all over / the streets, while vultures begin hovering over the house as more
people / start dying in the village and the epidemic kills without discrimination.

Options :

1.¢

As the time rolls by, rats in there thousands die and lie scattered all over

2. % the streets, while vultures begin hovering over the house as more people
3. # start dying in the village and the epidemic kills without discrimination.
4. ® No Error

Question Number : 62 Question Id : 97675518048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

As the time rolls by, rats in there thousands die and lie scattered all over / the streets, while vultures begin hovering over the house as more
people / start dying in the village and the epidemic kills without discrimination.

Options :
1. v
As the time rolls by, rats in there thousands die and lie scattered all over



2. % the streets, while vultures begin hovering over the house as more people
3. % start dying in the village and the epidemic kills without discrimination.
4. % No Error

Question Number : 63 Question Id : 97675518049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The purpose of the Act was to establish an institutional (structured) that could effectively protect, promote and fulfil the fundamental rights
guaranteed by the Indian Constitution.

Options :

1. # qualification
2. ¥ framework
3. ¥ reservation

4. % no correction required

Question Number : 63 Question Id : 97675518049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The purpose of the Act was to establish an institutional (structured) that could effectively protect, promote and fulfil the fundamental rights
guaranteed by the Indian Constitution.

Options :

1. # qualification
2. ¥ framework
3. % reservation

4. # no correction required

Question Number : 64 Question Id : 97675518050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The controversy before the Madras High Court (products) from the issue of what is to be done after the Human Rights Commission completes its
inquiry.

Options :

1. ¥ stems

2. # refrains

3. % digresses

4. # no correction required

Question Number : 64 Question Id : 97675518050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The controversy before the Madras High Court (products) from the issue of what is to be done after the Human Rights Commission completes its
inquiry.

Options :

1. ¥ stems

2. # refrains

3. % digresses

4. # no correction required

Question Number : 65 Question Id : 97675518051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

In protest, a nationwide of work was called, marking the commencement of widespread, although not nationwide, popular
discontent.



Options :

1. # celebration
2. # persistence
3. % cessation

4. ¥ beginning

Question Number : 65 Question Id : 97675518051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

In protest, a nationwide of work was called, marking the commencement of widespread, although not nationwide, popular
discontent.

Options :

1. # celebration
2. % persistence
3. ¥ cessation

4. % beginning

Question Number : 66 Question Id : 97675518052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Like all classics, this single movement for large orchestra is both luminous and ; both captivating and overwhelming.
Options :

1. # unequivocal

2. % unfathomable

3. % unassailable

4. % insatiable

Question Number : 66 Question Id : 97675518052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Like all classics, this single movement for large orchestra is both luminous and ; both captivating and overwhelming.
Options :

1. # unequivocal

2. ¥ unfathomable

3. # unassailable

4. % insatiable

Question Number : 67 Question Id : 97675518053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The principle

P: is to present your stand on the issue at
Q: hand but effective introductory

R: purpose of the introduction

S: paragraphs are so much more

than that.

Options :

1. ¥ SPQR
2. % RQSP
3. ¥ SRPQ
4. ¥ RPQS

Question Number : 67 Question Id : 97675518053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The principle



P: is to present your stand on the issue at
Q: hand but effective introductory

R: purpose of the introduction

S: paragraphs are so much more

than that.

Options :

1. ¥ SPQR
2. % RQSP
3. % SRPQ
4. ¥ RPQS

Question Number : 68 Question Id : 97675518054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

After Gandhi

P: because he was a colored person travelling in first-class,
Q: was thrown off a train

R: for injustices that many people of color faced

S: he took that emotion and used it to commence the fight
at the time.

Options :

1. ¥ QPSR
2. % QSPR
3. % PQRS
4. % SPQR

Question Number : 68 Question Id : 97675518054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.



After Gandhi

P: because he was a colored person travelling in first-class,
Q: was thrown off a train

R: for injustices that many people of color faced

S: he took that emotion and used it to commence the fight
at the time.

Options :

1. ¥ QPSR
2. % QSPR
3. ¥ PQRS
4. % SPQR

Question Number : 69 Question Id : 97675518055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Flabbergasted
Options :

1. # Disgusted

2. ¥ Surprised

3. # Extreme heat
4. % Rubber ring

Question Number : 69 Question Id : 97675518055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Flabbergasted
Options :

1. # Disgusted

2. ¥ Surprised

3. % Extreme heat



4. # Rubber ring

Question Number : 70 Question Id : 97675518056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

Oblivion

Options :

1. # Featherbrained
2. % Inadvertence
3. % Consciousness

4. % Indifference

Question Number : 70 Question Id : 97675518056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

Oblivion

Options :

1. # Featherbrained
2. # Inadvertence
3. % Consciousness

4. % Indifference

Question Number : 71 Question Id : 97675518057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ VICIOUS

2. % VISCIOUS



3. ¥ VISIOUS
4. % VICSIOUS

Question Number : 71 Question Id : 97675518057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¢ VICIOUS

2. % VISCIOUS

3. # VISIOUS

4. % VICSIOUS

Question Number : 72 Question Id : 97675518058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ SOBRIKE

2. % SOBRIQUE

3. ¥ SOUBRIQUET

4. ¥ SOBRIQUET

Question Number : 72 Question Id : 97675518058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ SOBRIKE

2. % SOBRIQUE

3. # SOUBRIQUET

4. ¥ SOBRIQUET



Question Number : 73 Question Id : 97675518059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"To cost an arm and a leg"

Options :

1. ¥ Something is very expensive

2. ®* Doing a courageous act

3. ¥ Losing something very precious

4. * Not having the means to do basic things in life

Question Number : 73 Question Id : 97675518059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"To cost an arm and a leg"

Options :

1. ¥ Something is very expensive

2. % Doing a courageous act

3. # Losing something very precious

4. % Not having the means to do basic things in life

Question Number : 74 Question Id : 97675518060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"Bite the bullet"
Options :

1. ¥ To get something over with because it is inevitable



2. # To do something that is nearly impossible
3. % To procrastinate

4. # To eat a very hard biscuit

Question Number : 74 Question Id : 97675518060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"Bite the bullet"

Options :

1. ¥ To get something over with because it is inevitable
2. * To do something that is nearly impossible

3. # To procrastinate

4. % To ecat a very hard biscuit

Question Number : 75 Question Id : 97675518061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below.

"perfect, or complete in every way"
Options :

1. # consume

2. % consummate

3. # consulate

4. % consuetude

Question Number : 75 Question Id : 97675518061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expression given below.



"perfect, or complete in every way'
Options :

1. # consume

2. % consummate

3. % consulate

4. % consuetude

Sub-Section Number : 2
Sub-Section Id : 9767551137
Question Shuffling Allowed : Yes

Question Id : 97675518062 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

All the world's a stage,

And all the men and women merely players;

They have their exits and their entrances ...

- William Shakespeare, As You Like It,

The Philosophy of Rhetoric (1937) by rhetorician I. A. Richards describes a metaphor as having two parts: the tenor and the vehicle. The tenor is
the subject to which attributes are ascribed. The vehicle is the object whose attributes are borrowed. In the previous example, "the world" is
compared to a stage, describing it with the attributes of "the stage"; "the world" is the tenor, and "a stage" is the vehicle; "men and women" is the
secondary tenor, and "players" is the secondary vehicle.

Psychologist Julian Jaynes coined the terms ‘metaphrand’ and ‘metaphier’, plus two new concepts, ‘paraphrand’ and ‘paraphier’. ‘Metaphrand’
is equivalent to the metaphor-theory terms ‘tenor’, ‘target’, and ‘ground’. ‘Metaphier’ is equivalent to the metaphor-theory terms ‘vehicle’,
‘figure’, and ‘source’. In a simple metaphor, an obvious attribute of the metaphier exactly characterizes the metaphrand (e.g. the ship plowed the
seas). With an inexact metaphor, however, a metaphier might have associated attributes or nuances — its paraphiers — that enrich the metaphor
because they “project back” to the metaphrand, potentially creating new ideas — the paraphrands — associated thereafter with the metaphrand or
even leading to a new metaphor. For example, in the metaphor "Pat is a tornado”, the metaphrand is "Pat”, the metaphier is "tornado". As
metaphier, "tornado" carries paraphiers such as power, storm and wind, counter clockwise motion, and danger, threat, destruction, etc. The
metaphoric meaning of “tornado” is inexact: one might understand that ‘Pat is powerfully destructive’ through the paraphrand of physical and
emotional destruction; another person might understand the metaphor as ‘Pat can spin out of control’. In the latter case, the paraphier of ‘spinning
motion’ has become the paraphrand ‘psychological spin’, suggesting an entirely new metaphor for emotional unpredictability, a possibly apt
description for a human being hardly applicable to a tornado. Based on his analysis, Jaynes claims that metaphors not only enhance description,
but "increase enormously our powers of perception...and our understanding, and literally create new objects”.



Sub questions

Question Number : 76 Question Id : 97675518063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the world compared to?

Options :

1. % Arena of opportunities

2. ¥ Stage

3. % Part of life

4. # Needs

Question Number : 77 Question Id : 97675518064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the "vehicle" in the above passage?
Options :

1. % The subject to which attributes are ascribed
2. % A word that gives a reference to a new word
3. % The object whose attributes are borrowed

4. # A thing used to express, embody, or fulfil something

Question Number : 78 Question Id : 97675518065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Metaphrand and metaphier are equivalent to

Options :

1. # Cause and effect

2. # Relation and co-relation
3. ¥ Meaning and relation

4. ¥ Target and source

Question Number : 79 Question Id : 97675518066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Referring to Julian Jaynes theory and considering the metaphor "All the men and women merely players", what are "men" and "women" ?
Options :

1. ¥ metaphrand

2. % metaphier

3. ¥ metaphor

4. *® history

Question Number : 80 Question Id : 97675518067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The statements at the start of the passage are attributed to:
Options :

1. * George Eliot

2. #® George Orwell

3. # William Blake

4. ¥ William Shakespeare

Question Id : 97675518062 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

All the world's a stage,

And all the men and women merely players;

They have their exits and their entrances ...

- William Shakespeare, As You Like It,

The Philosophy of Rhetoric (1937) by rhetorician I. A. Richards describes a metaphor as having two parts: the tenor and the vehicle. The tenor is
the subject to which attributes are ascribed. The vehicle is the object whose attributes are borrowed. In the previous example, "the world" is

compared to a stage, describing it with the attributes of "the stage"; "the world" is the tenor, and "a stage" is the vehicle; "men and women" is the
secondary tenor, and "players" is the secondary vehicle.

Psychologist Julian Jaynes coined the terms ‘metaphrand’ and ‘metaphier’, plus two new concepts, ‘paraphrand’ and ‘paraphier’. ‘Metaphrand’



is equivalent to the metaphor-theory terms ‘tenor’, ‘target’, and ‘ground’. ‘Metaphier’ is equivalent to the metaphor-theory terms ‘vehicle’,
‘figure’, and ‘source’. In a simple metaphor, an obvious attribute of the metaphier exactly characterizes the metaphrand (e.g. the ship plowed the
seas). With an inexact metaphor, however, a metaphier might have associated attributes or nuances — its paraphiers — that enrich the metaphor
because they “project back” to the metaphrand, potentially creating new ideas — the paraphrands — associated thereafter with the metaphrand or
even leading to a new metaphor. For example, in the metaphor "Pat is a tornado”, the metaphrand is "Pat”, the metaphier is "tornado". As
metaphier, "tornado" carries paraphiers such as power, storm and wind, counter clockwise motion, and danger, threat, destruction, etc. The
metaphoric meaning of “tornado” is inexact: one might understand that ‘Pat is powerfully destructive’ through the paraphrand of physical and
emotional destruction; another person might understand the metaphor as ‘Pat can spin out of control’. In the latter case, the paraphier of ‘spinning
motion’ has become the paraphrand ‘psychological spin’, suggesting an entirely new metaphor for emotional unpredictability, a possibly apt
description for a human being hardly applicable to a tornado. Based on his analysis, Jaynes claims that metaphors not only enhance description,
but "increase enormously our powers of perception...and our understanding, and literally create new objects”.

Sub questions

Question Number : 76 Question Id : 97675518063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the world compared to?

Options :

1. # Arena of opportunities

2. ¥ Stage

3. % Part of life

4. # Needs

Question Number : 77 Question Id : 97675518064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the "vehicle" in the above passage?
Options :

1. # The subject to which attributes are ascribed
2. % A word that gives a reference to a new word
3. % The object whose attributes are borrowed

4. # A thing used to express, embody, or fulfil something

Question Number : 78 Question Id : 97675518065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Metaphrand and metaphier are equivalent to

Options :

1. # Cause and effect

2. % Relation and co-relation
3. ¥ Meaning and relation

4. ¥ Target and source

Question Number : 79 Question Id : 97675518066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Referring to Julian Jaynes theory and considering the metaphor "All the men and women merely players", what are "men" and "women" ?
Options :

1. ¥ metaphrand

2. % metaphier

3. % metaphor

4. % history

Question Number : 80 Question Id : 97675518067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The statements at the start of the passage are attributed to:
Options :

1. # George Eliot

2. % George Orwell

3. # William Blake

4. ¥ William Shakespeare
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Question Number : 81 Question Id : 97675518068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawed § 9, 39 fadwe &1 9g9 &3 off faexht Weg &1 Ja! fadwed gl
Options :

1. ® Ydoh]

2. % ShRI

3. IR

4. % Wdcyc




Question Number : 81 Question Id : 97675518068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy d, IR el 7 9, 39 fawcu &1 97 &% ot faexh e &1 98t faweu gl
Options :

1. #® Yddl

2. % SO

3. ¢ TR

4. % QcUyc

Question Number : 82 Question Id : 97675518069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy 8, IR fawedl & 9, 39 fddhed &1 99 o Sl 4T U 2eg T dsd U Bl
3

Options :

1. ¥ UTdH

2. % U9l

3. % Ul

4. % Zal

Question Number : 82 Question Id : 97675518069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR famedl O 4, 39 fawed &1 99 &< N QU U Ueg &1 dagd U Bl |
1t

Options :

1. ¥ UdH

2. % U

3. ® Ul

4. % G




Question Number : 83 Question Id : 97675518070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad Uy H, IR fawddi | 9, 39 [ddhcd &1 g &2 Sl fobar & U T Jat [dwed gl
EERCIE e

Options :

1. % QdpIicid fopd

2. ¢ TRUMYS feban

3. % AHYrd fobar

4. % qTehiicre fobal

Question Number : 83 Question Id : 97675518070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad vy 8§, IR fawedl & 9, 39 fddhed &1 99+ &3 Sl fobal & UG arell el [ddbed 51|
T @M1 AT

Options :

1. % QAT fohdl

2. ¢ WRne o

3. % Amayrg foban

4. % TTchIier fohar

Question Number : 84 Question Id : 97675518071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad Uy &, IR fadwedl § 9, 39 fadhed &1 90 & off [T T a1y & oY 31eqd & Ug &1 Het fadbed 8|
98 f&T HR ¥ AT T

Options :

1. ¢ foparfasiomm siomg
2. % HUBR FHUSIYD 3T




3. % fqwrarieatyes sreug
4. % FEMFYGIV SIS D oY

Question Number : 84 Question Id : 97675518071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy #, IR fawedl § T, 39 fasweu o1 T &3 1l foU 770 a199 & ot 310 & e &1 ot fadhed 8|
g8 fa71 YR B 1 @7
Options :

1. ¢ fohariarivor sreqg
2. % ISR YA YD 3T
3. % fqwpidaiy® efeqg

4. % GHMIHU FHESIYD 3T

Question Number : 85 Question Id : 97675518072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy A, IR el 7 9, 39 fahcu &1 9g7 &2 ot fAdiA Weg &1 a9 331 faheu g |
e

Options :
1. ¥ 3R
P [
3. ¥ Hgd
4, % Hd

Question Number : 85 Question Id : 97675518072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR ercal 7 9, 39 fahcd o1 987 & o fadiH Wsg &1 e 331 faheu g |
g ro




Options :
1. 3R
2. % HY
3. % Hgd
4. % Hd

Question Number : 86 Question Id : 97675518073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafaiad ger &, =R fadhedl # 4, 39 T fasb e &1 7o B3 ot fau 70 wreg & Tt o1 b1 It fached 811
g}

Options :

1. % dYg

2. % d7

3. % d&d

4. ¢ R

Question Number : 86 Question Id : 97675518073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafaiad uer &, =R fadhedl § 4, 39 T fasbed &1 79 3 ot fau 710 wres & Tt o1 b1 It fached 811
EE

Options :

1. % dYg

2. % 97

3. % q&d

4. ¥R

Question Number : 87 Question Id : 97675518074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafafad gy o, aR fowed! & ¥, 39 98! fadwed &1 99+ 3 o Rad I o 1o Iugad Uss &l el [ddwed o |
Tt g Fem | WS g

Options :

1. % Bl
2. #® T[SRM
3. ¢ 3P
4, % hHhgd

Question Number : 87 Question Id : 97675518074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy ¥, TR fawenl § 9, 39 Ua! fawed o1 Tg & o Rad ®IF & i Iuged Usg &1 98 fddweu g |
i R AgF 8 TS Bl

Options :

1. % Gl
2. #® J[SRM
3. ¢ HIM
4, % hgd

Question Number : 88 Question Id : 97675518075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & 9, 39 fawed &1 999 &3 ol Y Vs &1 Ta! [dbved 7
Options :

1. ¢ Jryffe
2. % YR
3. % RYMHT
4. % 3R

Question Number : 88 Question Id : 97675518075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafeiad us §, TR fawet § 9, 39 fawey &1 7o &3 Sl Y e &1 Gal fAdwea 71
Options :

1. ¢ yffre

2. % Sfyfafi

Question Number : 89 Question Id : 97675518076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad vy, IR [dwedl & ¥, 39 fdwed &1 o1 &< 51 ol a1dd Ue &l f[ddhed 8l
I 81 39 a1 i, ag 91 |

Options :

1. % [qYTardes drag

2. % WA A

3. ¢ {9/

4. % IgId qIR

Question Number : 89 Question Id : 97675518076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad uy & IR Aol § ¥, 34 fadeu &1 T &3 o Gel a1e Ne &1 fadbed 8l
I 81 39 a1 i, ag Il |

Options :

1. % faymaras a1

2. % WA A

3. ¢ fHy g/

4. % Hgad I

Question Number : 90 Question Id : 97675518077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & 9, 39 fawey &1 999 &3 o Y a1 BT T 33T fadhed g |
Options :

1. % T ST § R 31eR 3T I8! §-d g

2. % T ST foh JRRRT &R 3w Tg! 9-1d g

3. ¢ T ST § fb IR 31&R 3w To! ad g |

4. % T SFA1 g [ gH 31&R 3w el 9-1d 5|

Question Number : 90 Question Id : 97675518077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue o, TR fawent § 9, 39 faswed &1 7 &3 Sl Y a1 T Ja 3737 fadhed g |
Options :

1. % T SFaT § R 31eR 38T -Ta] ad g

2. % T ST b TRRT 18R 3w 18] ad g

3. ¢ T ST § fob TR 318R 31y Tgl a-1d 5 |

4. % YA E fob gH 31&R 3 8] -1d g |

Question Number : 91 Question Id : 97675518078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy §, IR eeal 7 9, 39 fowcd &1 987 &% ot feT 7T are & ol ugl & Ne &1 ey 331 faheu 3|
WY TH Bl B Y Fea off @1 !

Options :

1. % Jradiys®
2. ¢ YAfcRIa®
3. % gUidEae
4. % RYIdD

Question Number : 91 Question Id : 97675518078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy §, IR eeal 7 9, 39 fahca o1 987 &% ot feU 7T are & fol uai & Ve &1 9ad 331 [y g |
I M B c@HR Y Tl of Xg! 8!

Options :

1. % graAadd
2. ¢ YAfRIa®
3. % gUidEae
4. % IRYIdD

Question Number : 92 Question Id : 97675518079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy ¥, IR fowedl T 9, 39 fdded &1 9a & off [aR1H g gad ardd &1 Hal f[dbed |
Options :

1. % S TR AR Hd B Y T q9 3G Tl Ial SRT A BT gl T

2. % T IR FAGR Hd HId YP T 99 I T "Il oR1 = BT gl aemy)

3. % T¢I FAOR HRd Hd YP T, 99 I T It o1 HI=Y BT Tl amy|

4. ¢ 59 TR AR HIA-BId YP T, I9 I T, "<, SRT ARG B7 dl aomy)

Question Number : 92 Question Id : 97675518079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 4, aR faswed! & 4, 39 fdeed &1 99 &< Sl fav19 fag god a1 &1 Hal fadbeu gl
Options :

1. % S IR AR B B Y T d6 39 qral gal 9T A BT gl T

2. % T IR FAOR Hd B YP T 96 39 T "Il o1 A BT gl ey

3. % Od IR SAGR HRd B Y T, T6 I =T Ta SRT H=T BT Ul Ty

4. ¢ T9 T SIVR FHRA-Hd Y 741, I6 I W, "I, SRT AT BT Tl Tmg)”

Question Number : 93 Question Id : 97675518080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

gﬁ«r@awﬁ,aﬂﬁwfﬁ,wi%wwwﬂ 3 o1l faU 7T ggTar &1 He! 3 arel fdsed 5|
Y- -

Options :

1. % Hay gl

2. % TSI ST

3. % qed gR g

4. % USd-l

Question Number : 93 Question Id : 97675518080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiaa uy & IR fowe § ¥, 39 fawey &1 7 3% off fau 7T gerer o1 T8t o aran fawe 8
R ¢ -

Options :

1. % DA gl

2. % QITSITT

3. % THFd gR g

4.« USdl-l

Question Number : 94 Question Id : 97675518081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vs o, TR fawenl # 9, 39 fawed &1 7o &L S fou 78 eTer &1 Jet o aran fawea 71
RR WY g -

Options :

1. ® 3R AMEAT

2. % faRIeT & R g

3. ¢ WERIBHI

4. % 33 S8 W BT



Question Number : 94 Question Id : 97675518081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa uy & IR fawe # 9, 39 fawey &1 7 o3 off fau 7T etk o1 98t o aran faweu g
RR WY BT -

Options :

1. % SIRTHAAT

2. % fRIfl 9 foR g
3. ¢ GERIGH

4. % 3B TG W BT

Question Number : 95 Question Id : 97675518082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 faswey &1 999 &3 il < 718 Aioifad &1 et o aren fawea 3|
3{q & 3(d, TG &I dd -

Options :

1. % Gholdl g gl

2. % U FST3 3T HAT

3. % U] SwId DI &M W HRAT

4. ¢ Yaw P} Ridl BISH a0HM &1 81 Aol

Question Number : 95 Question Id : 97675518082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy &, aR fowedl § T, I faswey &1 999 &3 §il <t 718 Aioifad &1 et o aren fawea 3|
3d DI 3, dd Pl dd -

Options :

1. % Ol g g

2. % (Ut ISTS 3T HRA]




3. % 3(UHT ToId Dl L&l T Bl
4. ¢ Hfosg &} I BISHR IHH o1 &t I

Sub-Section Number : 2
Sub-Section Id : 9767551139
Question Shuffling Allowed : Yes

Question Id : 97675518083 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

T fou T e % 91 5 Uy fRU TR €1 39 TN B AHgde Ue 3R IR faded H Q Ul Y BT gataH IR I |

TR AHH & 3T IR R Feury TR JHET WH dTd AN 33d 5- RaRiard, Aeigr, BRame, HaTsiard...| O Had § "I §RT 8! aidl?

aﬁmmw%@%sﬁ?&wﬁmwﬁﬁﬁwﬁmﬁ 3{Tegdl TRIE 81 ! 8" & ST a1dl bl geb | &t AdT

| 2 U1 © fob I8l S T Jed & 9 TR AT 81d 8] 31U HIH-UTH & S ! W o 311d § 3R WL Id o1d g T HAR W TR
N1 E O GAR 39 URER & W I& 1 71U &) A I SRy iR A i 8, o G-t a1 W o g @1+ 3d ) anl &

TS T ol 311 741 TR IG 1 AR1ebT 751 SATI| TSI TR Sefebdl ST ) ool IR 44 faward bl HIaHT Sarel @ieit 8] | 59 gf-a H bel-gt

gg%%ug%ﬁaw%am PIs [t & fd Tife T aferdn TER-R € fo R 9a-afaard 3R Th-gi & g:@-ac § X

>d g

Sub questions

Question Number : 96 Question Id : 97675518084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AGH AT 1 RIepTrct oY g B 3t ol 82
Options :

1. ¢ e a1 AN RIS 3R SHAFER &

2. % gg fobdit aTd I TRIRAT 8 gl o

3. % RGBT HIAT AN B S el 3

D) A
4. ® QD 35 SIHA-Ug ] %

Question Number : 97 Question Id : 97675518085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIYROT &1 WR 4t g P Yol Waﬁ%‘?




Options :

1. ® 3R IgSI-get arad
2. ¢ &IIﬂTW 3 T
3. % WD o AR anT
4. % Tg 3 3T TR Holg?

Question Number : 98 Question Id : 97675518086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 g B B B & - g 1w
Options :

1. ¢ TI1d ¥ 2ER 3 99 TRg

2. % Tiiq Y TER O §Y HolgR! B! g

3. % AP DI IHUM ardl Te iy

4. % MR =g SHfRY ol

Question Number : 99 Question Id : 97675518087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STH Y B - 11 IR 1 vafare T8 82
Options :

1. % 3

2. % 3ffa-Id

3. ¢ faeitd

4, ® 3olg

Question Number : 100 Question Id : 97675518088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y ST DI BIS SUYHI Aiep-

Options :

1. % 3RV AR



2. % TRI9l &I Rierad
3. % Ry gRar
4. ¢ TS SAFGR AN

Question Id : 97675518083 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

ﬂ%ﬁu@m%mswmnﬁ%wmﬁmﬁ&ﬁvwwmﬁﬁwwwmmﬁnwgﬁ

TR AHH & 3T IR R Feury TR JHET WH dTd AN 33d 5- RaRiard, Aeigr, BRame, SHaTsiard...| O Had § "I §RT 8! aidl?
aﬁnmww%@%@nms@aﬂam@%ﬁw@%ﬁﬁWwﬁw%r'ﬁmam‘rﬁeﬁﬁﬁm

| q3 U & fob TgT off AT Sled § d TRIS @ 8id &) 30 HTH-4TH & dig et WH I 3Td & SR WIHR Id old g) T AR IR TRe
%WW%@W@W%WW@W%@W@WW@%% S RO a1 WR off ST WS R dd g Al
TR T QY 31T TT OR Y@ BT aRIehT -Ta S| SUSTd TWRI Sadhd ST Bi ol R 394 fea1d &t HIaT IaTd Wit ) | 39 gf-an & Hel-gH
gﬁﬁ%ﬁgﬁﬁ%@%ﬁéw&mmﬁwmmm@ﬁﬁqwsﬂﬁaﬁuﬁeﬁvw@%$§@a‘c%frarr&m
|

Sub questions

Question Number : 96 Question Id : 97675518084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AGS TN 1 RIepTIdt o1 g B 3t ol 8
Options :

1. ¢ e ardl anT RIS 3R SHAFGR §

2. % g fordil 9T ol TPHRAT I 81 ol

3. % RGBT HIAT AN B S el B

4. % AGH 38 HdI-UgaHd §

Question Number : 97 Question Id : 97675518085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIYRYT 10 W Y A I TST R o 32
Options :




1. ® Ry ESI-ue) arad
2.« 3HR fabeg 3 AN
3. % G o URFId anT
4. % T 3T TR Holge

Question Number : 98 Question Id : 97675518086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'3 g1 | HEI-gH gl g - 99 gfaT &1 Jdbd §

Options :

1. ¢ Tig J R 31 9 RIS
2. % T[q Y e Ol T4 ASIG & g
3. % TG Bl I A IS

4. % 3HR fobg SHMRAY AT

Question Number : 99 Question Id : 97675518087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STH A DM - 1 Y BT ugfaar=h 781 &2
Options :

1. % 3y

2. % 3ffa-Id

3. ¢ faitd

4, % 39g

Question Number : 100 Question Id : 97675518088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3fwSE BT Hls Jugad Hd-
Options :

1. % 3fRY AR

2. % TRIel &I RiprId




3. % ¥ URaR

4. ¢ TRIT SHFER T
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Question Number : 101 Question Id : 97675518089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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0

0

No

No

0
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Which of the following is the correct expression for calculating the direction (8) of the resultant force between two
forces P and Q. Take angle between the forces as a.

Options :

thﬂﬂ_ii ﬂ
1.+ P+Qcoso

)

o ® P+Qcoso

)

B=tan‘1{ kA
3 % P+Qsina

B:tﬂﬂ_ii ﬂ
4. ® P+@Qsino

Question Number : 101 Question Id : 97675518089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ar Tt P 3R Q F &= oo I ¥ fZaw () Fr v F v FHEARRT SEe 7 ¥ FiF @
= 2?7 J1F ST 5@t F 7 3 0T o g

Options :

1. P+Qcosa

thﬂﬂ_ii ﬂ
0 ® P+Qcoso

B=tan l( 2222
3 % P+@sina



4. ® P+Qsina

Question Number : 102 Question Id : 97675518090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If two concurrent forces P and Q of magnitude 25 N and 50 N are acting away from the point of concurrency and
inclined at angles 15" and 30" with the horizontal plane respectively, the magnitude of the resultant force is:

Options :
1. % 83.26N

> % 64.25N
3 @ T443N
4 % 58.63N

Question Number : 102 Question Id : 97675518090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ofg IRATr 25N 3R 50N & af T 91 P AR Q, WA fag & gy frumefrer § 3k aifosr o= & @y
FAM: 15° T 30° FT W HAF g, ar IRomAr 5o 1 aR#Awr fhaar gem?

Options :
1. % 8326N

» ® 64.25N



3 ¢ T443N

4 % 58.63N

Question Number : 103 Question Id : 97675518091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A block of weight 250 N is placed on an inclined plane, which makes an angle of 207 with the horizontal. The
components of this weight parallel to the inclined plane and perpendicular to the inclined plane are and
, respectively.
Options :
| % 12.5N,56.25N

, » 92.85N,182.6N
3 % 2042N,36.59N

4 85.5N,234.92N

Question Number : 103 Question Id : 97675518091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
250N &R & UF U UF HAT I | @ AT g, S afas & 200 v wor g|rar g g a9

TAEET 3T 399 99 & o999 20 81 & UF FH k2 1rg =
Options :
| ® 72.5N,56.25N




> w 92.85N, 182.6 N
3 % 204.2N, 36.59 N

4 o 835N, 23492 N

Question Number : 104 Question Id : 97675518092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A simply supported beam AB of length 10 m carries point loads 100 kKN and 80 kN at a distance of 2 m and 6 m.,
respectively, from end A. It also carries a uniformly distributed load of 10 kN/m between the point loads. The support
reactions at A and B are and , respectively.

Options :
| ® 54 kN. 166 kN

, o 136 KN, 84 kN
3 % 25KN, 195 kN

4 % 163 KN, 57kN

Question Number : 104 Question Id : 97675518092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 m &7 FT T YETeiad ot BT A F 2m AT 6m #F gl W FAW 100 kN 3R 80KN & 8T Fg=
T g1 I¢ &g 9 F @I 10 kNm FT FAE & § Fala #7 ofr 387 Far g1 A R B 9 3rard
giafeare Feen EZirg gl




Options :
| ® 54 kN. 166 kN

, » 136 KN, 84 kN
3 % 25KN, 195 kN

4 % 163 KN, 57kN

Question Number : 105 Question Id : 97675518093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The correct unit of force among the following is:
Options :

; i)
| kg-m/sec”

r 2
, % kg/m/sec”
3 % kg-misec

4 % Kg/misec

Question Number : 105 Question Id : 97675518093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT ag Reedl & ¥ 9o &7 T 551 FiF &7

Options :



¥ 2

| kg-m/sec”

s o )

, % kg/m/sec
3 % Kg-msec

4 % Kg/m/sec

Question Number : 106 Question Id : 97675518094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calculate the distance of a centroid from the top of a T-section wherein width of the flange = 150 mun. height of the
flange = 10 mm, width of the web = 10 mm and height of the web = 140 mm.

Options :
| % 335.68 mm

7 « 41.21 mm
3. % 72.98 mm

4 % 68.23 mm

Question Number : 106 Question Id : 97675518094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T-9f=dg (T-8%F) & fY & w& Foo (dgiss) & g & aumer =Y, S i (woie) #r =i =
150 mm, 3739 (Feiet) Fr F91E = 10 mm, YeT (39) Hr ==E = 10 mm T 927 (39) H FA5 = 140 mm g



Options :
1 #% 55.68 mm

7 « 41.21 mm
3 % 72.98 mm

4. % 68.23 mm

Question Number : 107 Question Id : 97675518095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boat is rowed at a velocity of 30 km'h across (perpendicular to the direction of stream) a river. The velocity of the
stream is 10 kim‘h. The resultant velocity of the boat (in km/h) is:

Options :
1 % 47.28

5 & 31.62

Question Number : 107 Question Id : 97675518095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Uk AT FAdr F NI (rr Hr e & S999) 30 kwh F T F TAST F1 URT F AT 10 km'h FI AT F
gfyomET 97 (kmh H) Fger 272

Options :




Question Number : 108 Question Id : 97675518096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the main advantage of rivets in steel construction?
Options :

| % They need pre-heating.

»  They do not loosen when subjected to vibration.
3 % Less workforce is required.

4 % They provide an aesthetic finish

Question Number : 108 Question Id : 97675518096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfaf@a fwed # ¥ #ia, svaa [T & Racw & geu o g2

Options :

o S E-drae (F-EifEen) Fr smEEewar g gl




, v FUT F 3N AT W T & A7 A

, « HH FEEE H TS gl gl

. ¥ UF HieaRes INSHa Jad Hd 2l

4.

Question Number : 109 Question Id : 97675518097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In bolted connections, the minimum pitch allowed as per IS: 800-2007 is:
Options :

1. % 1.5 = diameter of the bolt

> % 3 = diameter of the bolt

5 = diameter of the bolt

et
S
bt

[

.7 = diameter of the bolt

Question Number : 109 Question Id : 97675518097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FHrEel HIUA (o€ Faaele) H, SRAT A (IS) 800-2007 F FFAR AT geiad 37arer (Fre)

gl

Options :
| % L35> FEeT (A1) HT AH



s

FIFelT (diee) FT =TH

5 % HIEel (See) & =

(]
[

b
|

. HEAT (Se€) HT =aF

Question Number : 110 Question Id : 97675518098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A truss member consists of two angles of ISA 75%75x6, which are placed back to back carrying an ultimate tensile load
of 200 KN. The member is connected to an 8-mm thick gusset plate placed in between the two connected legs using 16
mm diameter bolts of grade 4.6. How many bolts are required? (Assume £, of plates as 410 MPa.)
Options :

1 ® 2

2.¢ 4

Question Number : 110 Question Id : 97675518098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U F= TS (ZF HIY) F H ISA75x75%6 & ar T &, Toee 200KN & TH ddd AT F AT TF &
g T T AT ¢l 98 3839 (AS), FIfC (I8) 4.6 & 16 mm TAH Sleg (FTEaT) FH 39G19T He & 3
q'laﬁ'{?l?'ﬂ']%ﬁ?ﬁ'l@'ﬂé’%—lmnmmqﬁﬁ(m@?}@%ﬁ%i?J%Twﬁﬂ_rlﬁm(mﬂﬁ

HTETFAT 27 (AT NTST Ifgahiait &1 £, AT 410 MPa g1)

Options :

1 ® 2

2.¢ 4

Question Number : 111 Question Id : 97675518099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of ISMC?
Options :
1 % Indian standard mortar and cement

» % Indian standard for mixing cement
3  Indian standard medium weight channel

4 % Indian standard mean compaction

Question Number : 111 Question Id : 97675518099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ISMC &l 90T &9 & 87
Options :

| % Indian standard mortar and cement (ERTa w©=E At vz O@He)
, % Indian standard for mixing cement (ERTa ==E v AT ow e
3 ¥ Indian standard medium weight channel (S2a= s Aifzaw 3 %‘I?-!FI')

4 w Indian standard mean compaction (R Tdss AT FEdaeE)

Question Number : 112 Question Id : 97675518100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A single bolted lap joint is used to connect two plates 8 mm thick. If bolts of 20 mm diameter are used at 60 mm pitch
and if we use Fe410 plate and 4.6 grade of bolt, then the efficiency of the joint is

Options :
1. % 51.23%
) ® 45.23%

3 % 21.45%

4 & 31.94%

Question Number : 112 Question Id : 97675518100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

8 mm AT g gfTerst (sorel) Fr Asa F T vea FEar gE AT (e diees o FAse) &1 394
frar Jrar 31 3T 60 mm 3Eer (=) 9T 20 mm =TH F Stec (FrEeT) T 3IAET Far Jar § R o
EH Fed10 9fFeT 3K 4.6 FfT (I3) doc (F1a) F 39T F9 &, Or AT Hr AT gt

Options :

| % 51.23%
5 % 45.23%
3 % 21.45%
4 31.94%

Question Number : 113 Question Id : 97675518101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a soil sample in its natural state is fully saturated, it will have water content of 30%. The total weight of water
required to saturate a soil mass of volume 1om? is: (Assume G, = 2.60.)

Options :
1. % 220KN

7 o 44 KN
3 % 22EKN

4 % 440 KN



Question Number : 113 Question Id : 97675518101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IfE g FET FHAT HATAT Tpiaes HTEAT H TYOT oA ¢, af 3T el S AT 30% grEf| Lom? 3T
% HaT HEld #I Haead i & 00 o7 F For el 7 HT Ha2TF g2 (A ST, G, =2.60)

Options :
1 ® 220 KN

7« 44 KN
3 % 22EKN

4 % 440KN

Question Number : 114 Question Id : 97675518102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The equation that represents the A-line on the plasticity chart is:
Options :

r— i o |
L% ™ 0.73(1, - 20)

5 L,=0.73(w;-20)
3 % Iy =0.2(wy-73)

4 % W= 02(,-73)



Question Number : 114 Question Id : 97675518102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FoeaaT VAT (CefEeshdr 918) 9T A-YGT HT el aTel FARLOT i A 872

Options :
W= {].TE{IP - 20}

1. #

) o Lp=0.73(w;-20)
3 % 1p= 0-2(Wy-73)

4 % \r¥’1=ﬂ.2|{ I}_?SJ

Question Number : 115 Question Id : 97675518103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The natural water content, liquid limit and plastic limit of a clay sample are 20%. 40% and 18%, respectively. Its

liquidity index is:
Options :
1. % 0.06
2. % 0.07
3. % 0.08

4 0.09



Question Number : 115 Question Id : 97675518103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HET FHA I T o $T A, G WAT AT GuTTAr HAT FHA: 20%, 40% 3T 18% F| FHFT FIAT
qawe fehaaT g7

Options :
1. % 0.06

5 % 0.07
3 % 0.08

4« 0.09

Question Number : 116 Question Id : 97675518104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The diameter of a clean capillary tube is 0.06 mm. Determine the expected rise of water in the tube.
Options :

1. % 35cm

) # 42cm

3 % 27cm

4.« 30cm

Question Number : 116 Question Id : 97675518104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TF TETC SIS Joll FH SOMH 0.06 mm g Fot F For Fr 3nfET gfr w1 T F:

Options :
1. % 35cm

o % 42 cm
3 % 27cm

4.« 30 cm

Question Number : 117 Question Id : 97675518105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A clay layer of 6 m thickness has an existing overburden pressure of 300 kpa at the centre of the clay layer. The pressure
is expected to increase by 150 kpa due to a new building. By taking c.=0.45, w = 50% and G = 2.71, calculate the

consolidation settlement.
Options :

1 #% 147.25 mm

7 « 201.858 mm

3 % 250.84 mm

4. % 198.56 mm

Question Number : 117 Question Id : 97675518105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



6 m HET HeT T H, H&l R & Hg H 300 kpa F TR IINAR g9 &1 TF 75 $ARS & FRUT gF A
150 kpa & I & FT HFAS &l ¢ =045, w=350% HX G=2.71 HAS T T [ & 70T |
Options :

% 147.25 mm

7 « 201.88 mm
3. % 250.84 mm

4 % 198.56 mm

Question Number : 118 Question Id : 97675518106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 20-mm-thick soil sample takes 20 min to reach 20% consolidation. The time taken for a 6-m-thick clay laver to reach
40% consolidation is . (Assume double drainage in both cases.)

Options :
| ® 12.2 years

5 % 15.6years
3 % 14.2 years
4 13.7 years

Question Number : 118 Question Id : 97675518106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



20 mm HIE He&T FAA F 20% A T Tgaa F 20 min F FAT AT g1 6 mm FE HIT R HT 40%
Tga 9% ngmfi I T ITeT §HY g1 (A difaT f&F = #HET # 8T 399E )
Options :

o 122 yr (@9)

1.
5 % 156 yr (3)
s w 142 yr (@)

4, o 137 yr (@)

Question Number : 119 Question Id : 97675518107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A circular area of 6 m diameter carries a uniformly distributed load of 10 kN/m?. The vertical stress at a depth of 5 m is:
Options :

|« 3.69 kN/m?

5 % 8.29 KN/m?

3 % 4.88 KN/m?

4 % LT9KN /m?

Question Number : 119 Question Id : 97675518107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

6 m EATH F Tk FodihR & 10 kN/m? & THAF 7 F FaRdT 8- F84 T gl Sm H T8 W/
Feare Siaged Thaar gem?

Options :
1« 3.69 KN/m?

) ® B8.29 KN/m?
3 % 4.88 KN/m?

4 % 1.79 kKN/m?

Question Number : 120 Question Id : 97675518108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A strip footing is 1m wide at its base. It is located at a depth of 0.8 m below the ground level. Consider unit weight of

soil = 18 KN/m°, cohesion = 30 kN/m? and the angle of friction = 20Y. Caleulate the safe bearing capacity of soil using
terzaghi’s analysis. (Take N, =3.9, N. = 11.8, N, = 1.7, factory of safety =2.5.)

Options :
% 112.09 kN/m?

5« 131.62 KN/m?
3 % 108.33 kKN/m?

4 % 12624 KN/m?



Question Number : 120 Question Id : 97675518108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ve 9g 9ig (e $icen) e 3R 9 im HE 1 TF T F 0.8 m F IEs W T B Fqer #+
W’é A =18 l<N-"1113, T =30 kN/m? 3T =T o7 = 20° %’I TATT [F999UT FT ITTT FF Hel #r
Fafl UROT STHAT # A0 H| (AT AAT, N =3.9,N. = 11.8,N, = 1.7, HE&ET 0 = 2.5)

Options :
| % 112.09 KN/m?

5 « 131.62 KN/m?
3 % 108.33 kKN/m?

4 % 126.24 kKN/m?
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Question Number : 121 Question Id : 97675518109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following options is INCORRECT with respect to the plate load test?
Options :

| = Aseating load of about 70 gm,"cm‘z is first applied and released after some time.
» % TIhe bottom of the pit should coincide with the level of the foundation.
3 « The size of the plate should be equal to the size of the footing.

4 % The test should continue until a total settlement of 2.5 cm or the settlement at which the soil fails, whichever is earlier.

Question Number : 121 Question Id : 97675518109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

gfgerr 9T ofiefuT (SoiE AE O) & mey H Tafaf@a 7 @ #w o Geew smem 2

Options :
9gel ST 70 gm/om’ FH NfEH s (T F19) M ST € HK $T w7 9 ger fomr S g

1. #

, % T (ITFE) F T, Ag FAX F WT FAGT AT =g
3.9 g &l tﬂE[a E !} 3;3 II#aIﬂImm%Q[

o 7 7 S &f 9 2, 9deToT 99 9% IR @ T1ieT S g% F Fo AT 25 om 7 & FT,
. 3 B a¥ea | ger o g sl

4.

Question Number : 122 Question Id : 97675518110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A concrete pile of diameter 30 em is driven into a homogenous consolidated clay deposit having cohesion of 40 kN/m?
and adhesion factor of 0.7. If the embedded length is 10 m, the safe load is . (Take factor of safety as 3.)

Options :
1 ® 73.95 kN

> % 82.15kN

L |

3 % 56.25kN

4 & 96.45 kN



Question Number : 122 Question Id : 97675518110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 om EITH T T Heplc TYOT (T5e) 40 kKN/'m? & FHS 3R 0.7 & 38 0 & Y Toh FHAAT
Fufaa 7er e F ofoe g1 afe a9 wnfte (We8s) s lom 7, & gifET s grer|
(AT SATAT FI&T IURF 3 )

Options :
1 % 73.95 kN

» % 82.15kN

4 & 96.45 kN

Question Number : 123 Question Id : 97675518111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Plate load tests were conducted in a c-@ soll on the plates of two different sizes and the following data was obtained.

Load | Size of plate Settlement
40kKN [03mX 0.3m 25 mm
100N | 0.6m X 0.6m 25 mm

The size of the square footing required to carry a load of 600 kN at the same specified settlement is:
Options :
| % 2.27m

7 ¢ 1.92m



3% 2.15m

4 % 1.75m

Question Number : 123 Question Id : 97675518111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2T 3ORT-37e19T HTHRT HT ITEHT W c-¢ FT H TIigah X GU&T0T ham 713 o, 3R Teafai@d 87 9red
gul
g |9 w7 IR | e

40KN [03m X 0.3m 25 mm

[OOKN | 0.6m X 0.6m 25 mm

A fafafese fadfies & 600 kN &1 87 a8t & & AT 397 uig (FfEen) &1 aaens e fFaar g7

Options :
1. % 2.27m

7 & 1.92m
3% 2.15m

4. % L.75m

Question Number : 124 Question Id : 97675518112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are true about cast-in-situ piles?

a) Piles of any size and length may be constructed at the site.
b) The damage due to driving and handling, which is common in the precast piles, is eliminated in this case.

c) They are suitable in soils of poor drainage qualities.
d)They cause vibrations and affect the surrounding structures.
Options :
| % aandb only
, % dandconly

3 % b,canddonly

4 @ bandconly

Question Number : 124 Question Id : 97675518112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TIEATA Toll (FRE-SA-HIE) TYOT & Tay A AeAtorad § ¥ $id G/ FI9 T ¢/8?
a) frAToT-TUe (TTEe) WX R off 3R 3R FES & Tyom & AT R o wear g

b) =M= 3R FETe (e 3R o) & Fror g arer aifd, St ERfET w2 (e 93a) #
A §, 3T AHS H AT & ST 2

¢) T FT HIATE ﬂ'ﬂﬁ el Hel agr 3T gl

d) ¥ 99 97 g § 3R HTEIE Fr BT #9696 71 2

Options :

1. ® Hael a AT b
2. % haer d AR ¢
3 % mbm}ﬁ'{d

, v Fad ab AR ¢

Question Number : 125 Question Id : 97675518113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The strength of a sample of fully matured concrete is found to be 40 MPa. Find the strength of identical concrete at

the age of 7 days. when cured at an average temperature of 20° C during daytime and average temperature of 10° C
during night time (take A=32, B=154).

Options :

| % 17.28 MPa



» % 22.56 MPa
3  26.63 MPa

29.23 Mpa

Question Number : 125 Question Id : 97675518113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

90 R W TR Fhie & THA H WHLY 40 MPa Fred g3l e # 20°C F i awaA= HR T4
% AT 10°C & HEg d9HAE T 3TN §H Fhie $f 7 o #1 33 & a1 TrEed A 1
(AT AT A=32 3 B=354)

Options :
1. % 17.28 MPa

» % 22.56 MPa

3« 26.63 MPa

29.23 Mpa

Question Number : 126 Question Id : 97675518114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



From the following information, identify the critical path.

Activity | Time in weeks | Preceded by
A 15 -

B 15 -

C 3 A

D 5 A

E 8 B.C
F 12 BC
G 1 E

H 14 E

I 3 D, G

I 14 F.H.1I

Options :
1. % A-C-E-G-1-J

5 « A-C-E-H-J

3 # B-E-G-I-J

4 % B-F-J

Question Number : 126 Question Id : 97675518114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TaRT IFFT F JUR W, Fiae I ST 92979 FHI

AFTTT | AT (T8 ) Eadr
A 15 -

B 15 -

C 3 A

D 5 A

E 8 B.€
E 12 B
G 1 E

H 14 B

E 3 D, G
T 14 F,H,I

Options :

| % A-C-E-G-I-J
» « A-C-E-H-J
3 # B-E-G-IJ
4 % B-FJ

Question Number : 127 Question Id : 97675518115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Horizontal communication does WOT include:
Options :
| % task co-ordination

» % broblem solving



3 % conflict resolution

4  directing subordinates

Question Number : 127 Question Id : 97675518115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SffasT T=IT H &7 T AeT 2T &7

Options :

LY
| % T HHeId

5 % THEEIT FHATS

3 % Cehlld HATYTH

4 v e e

Question Number : 128 Question Id : 97675518116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The correct order of steps involved in preparation of brick earth for clay brick manufacturing process is:
Options :

|« Unsoiling>digging>weathering>blending=>tempering

, w digging>weathering>unsoiling= tempering—> blending



3 % Unsoiling—2>tempering—=digging—=>blending—>weathering

4 w digging>weathering>blending—>tempering>unsoiling

Question Number : 128 Question Id : 97675518116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gy & g Ewr ufFar & v g B fr 3ol J offe oot &1 5 F73 F7w 2
Options :

v FAFaFT> e > seraa > Rawr>HgEr
- TS > 3IETI > HT B T 0T > HGHIo> T
s HfATFTFOT> FGFT> e > A0S 3T

y x GETS> HTHA-> FRAT0T-> Fgeror-> st feeRTor

Question Number : 129 Question Id : 97675518117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who defined management as 'the art of getting things done through people'?
Options :

L% Henri Fayol

, » George R Terry



3 ®% Newman and Summer

4 Mary Parker Follett

Question Number : 129 Question Id : 97675518117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT F T F ATCOH ¥ FH = & For & ¥ A Fua ofeniag e

Options :

| B S

0. ® AT AR,

4 v B 9 B

Question Number : 130 Question Id : 97675518118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The lustre of pyrite is:

Options :

1« metallic

) % Vitreous

3 % silky



4 % dull

Question Number : 130 Question Id : 97675518118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

urEEe @ gEE R e B

Options :

| Hlicas (Afe)

5« e (Tardisrm)
, x TerAT (REeehn)

o o

Question Number : 131 Question Id : 97675518119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a method used to obtain self-compacting concrete?
Options :

| = Limited aggregate content

, % Low water-powder ratio

;3 % Use of plasticizers



4 lncreasing the water content beyond 350 litres per cum

Question Number : 131 Question Id : 97675518119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=faf@a Reed & ¥ w7 O Y, T=-gga FHe g === i =B =8 82

Options :

|y OTHS AT (TARE) A
- e Srer-aot (areT-amEEy) A

GUSTFNT (SETECHIZSR) 1 ITIIT

3. %

4 v T A & 350 Lm> & HOF sgEm

Question Number : 132 Question Id : 97675518120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The acute vision cone is around degrees around the line of sight.
Options :

1.% 3
2.4 3

3. 9



Question Number : 132 Question Id : 97675518120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T ofF, & @ F AR AT T 3=t grar 21

Options :

R

2.4 3

Question Number : 133 Question Id : 97675518121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Maximum width of all vehicles excluding the front and rear bumper is:
Options :

1. % 32m

) #% 1.8m

(98]
|
)
L
=

N
#
bt
()
[—
B



Question Number : 133 Question Id : 97675518121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HET 3T I & T F oS T aEar Fr 3w Tive G g 22
Options :

1. % 32m

> # l.83m

Question Number : 134 Question Id : 97675518122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a braking test. a vehicle travelling at a speed of 40km/h was stopped by applying brakes fully: the skid marks were
6.3 m in length. The average skid resistance of the pavement surface is (take g = 10ms™):

Options :

1. % 0.61

2.« 0.98
3 # 0.72

4 % 0.86

Question Number : 134 Question Id : 97675518122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T HRIUA TET0T (8T TxT) H, 40kmh FT A1fT & T W@ TES R §F R Uk fE;T AT
fraee & faems & w88 6.3 m o1 FEF Fag (Fedc wT%a) &1 Haa fraes sfod feaer 82
(AT NTHT g= 1oms™)

Options :
1 % 0.6l

7 « 0.98
3. % 0.72

4 % 0.86

Question Number : 135 Question Id : 97675518123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



From the data in the given table, the modal speed is:

Speed No. of speed
range, observations
km'h
0-10 0
10-20 11
20-30 30
30-40 1035
40-50 233
50-60 216
60-70 68
70-80 24
80-90 0
Options :
1« 47 kimv/h
7 # 32 km'h

Question Number : 135 Question Id : 97675518123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



a1 9% anfereT H 2T % 3R 9T e afy v e F

I 9E, km'h | T 3GTRaT dr
&

0-10 ]
10-20 11
20-30 30
30-40 105
40-50 233
50-60 216
60-70 68
70-80 24
80-90 ]

Options :

1.« 47 km/h

2 % 32 km'h
3 % 55 kmh

4 % 37 kmh

Question Number : 136 Question Id : 97675518124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a collision diagram, the symbols —c+«— and — e+« represent and , respectively.

Options :
| % rear-end collision, front-end collision



»  bersonal injury. fatal accident
5w Pparked vehicle, fixed object

4 % side swipe, out of control

Question Number : 136 Question Id : 97675518124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HUT AW A, TdF —o— HT —e— FHAY: kS oy = g 2

Options :

|« TEAT ", aafEwr "oy

[ o LY ¢
d
) cilarddld =HIc, dHlideh c'si:rid.rll

T () A, R Ty

3. %

4« T HTETS (TETSY), fATEer ¥ Ay

Question Number : 137 Question Id : 97675518125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Match the following

Traffic sign General shape

1.regulatory signs a. triangular

2. warning signs b. rectangular

3.informatory signs c. circular
Options :

|« 1-¢; 2-8, 3-b
) ® 1-; : E—b, 3-c
3 % 1-b, 2-a. 3-c

4 % I-¢c, 2-c, 3-a

Question Number : 137 Question Id : 97675518125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TrRET # 1 Fea #:

Iarag REA AT AN
|. TarEs m=Ee a. TgaTRR
2. AarEHr =Ea b. HTATHFR
3. gEeleAs fBEd | . geder

Options :




3 % 1-b, 2-a. 3-c

4 % 1-¢, 2-c, 3-a

Question Number : 138 Question Id : 97675518126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

High tensile steel usually contains %o of carbon and % of manganese.
Options :

| % 06t00.85and0.7510 1

7« 0.6t00.85and0.7to 1
3 # 0.7t00.85and 0.7 to 1

4 % 0.7to0.85and0.75to 1

Question Number : 138 Question Id : 97675518126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T dad $E9T H HHEAR W % FEA AR % HIAS FIeT gl

Options :

| % 0.6 T 0385 3T 075 T 1

» v 0.6 085 3R 07T I



;% 077085 3T 07T H I

4 % 0.7 & 085 3T 075 T 1

Question Number : 139 Question Id : 97675518127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which IS code is referred to for the ductile detailing of reinforced concrete structures subjected to seismic forces?
Options :

| % IS 875: 1987

> % IS 1343 ;1980
3.« IS 13920 : 1993

4 % IS 1893 ;2002
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qHUIT el & AT Faford shle B3 o I faavor & fow 5w 15 #13 &t #effta fhar =rar 82

Options :
1. % ISE&75: 1987

5 % IS 1343 : 1980

3.« IS 13920 : 1993



4. % IS 1893 ;2002

Question Number : 140 Question Id : 97675518128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to IS 456 : 2000, for a nominal 1.5-hour fire resistance, the nominal covers specified for the simply
supported beams, slabs and ribs are

Options :
| % 20 mm, 20 mm and 40 mm

) % 20 mun, 25 mm and 20 mum
3 % 20 mun, 25 mm and 40 mumn

4« 20mm, 25 mm and 35 mm

Question Number : 140 Question Id : 97675518128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
IS 456 : 2000 % IFFER, 1.5 hr & FHRa 37w gfady F POw, yEefa o=, Saveat (FoF) AR 99w
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Options :
| % 20mm, 20 mm T 40 mm

> % 20mm. 25 mm 3T 20 mm

3 % 20 mm. 25 mm T 40 mm



4« 20mm, 25 mm 3T 35 mm
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Correct Marks : 1 Wrong Marks : 0.25

A rectangular reinforced concrete beam of size 250 mm x 600 mm is simply supported on two masonry walls 230 mm
thick and 6 m apart (centre to centre). A beam has to carry, in addition to its own weight, a distributed live load of 10
KN/m and a dead load of 5 KIN/m. Determine the factored moment.

(Take safetv factor as 1.5 and effective cover as 50 mm.)
Options :
1.« 126 KINm

7 #% 142 KNm
3. #% 169 KINm

4. % 121 KNm
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250 mm x 600 mm 3R FT Tk TSR Ta8oid Fie &, 23()111111%3—1‘!?6111#{&(%@'%
w o o foers el dEnt W e g1 ORE # 39S 6 & e, 10KNm F TE fFaia 79
ST 31T 5 KN/m 3T T 39 8 T8 T 9S4 g1 $aes A Ruila

(AT TT, GIET U AR FeAEr TSR0 F AT FHA 1.5 AT 50 mm g)

Options :
1.« 126 KNm

7 % 142 KNm

3 % 169 KNm



4 % 121 KNm
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In case of slenderness limits, according to IS 456 — 2000, the ratio of unsupported length (1) to the least lateral
dimension (d) of a column should not exceed a value of

Options :
1. % 30

) ® 45
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dear HIHT & FET H, IS 456 - 2000 & HJAR, Tk FsT T FEAS oars (1) 3 wg7aq7 aes JaH
(d) T 3-TT __ F AT ¥ HOF FE g AT

Options :
1 % 30

o ® 45

3.+ 60



Question Number : 143 Question Id : 97675518131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A pre-stressed concrete beam 100 mm wide and 300 mm deep is pre-stressed by straight wires carrying an initial
force of 150 KN at an eccentricity of 50 mm. Determine the loss of pre-stress due to elastic deformation of
concrete if the area of steel wires is 188 mm?. Take E,and E.as 210 kN /mm? and 35 kN/mm?’
Options :

1 #® 80 N/mm?
7 % 60 N/mm?
3 ® 20 N/mm?

4.« 40 N/mm?
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100 mm =HF HIT 300 mm gL TH t!j’-ﬁﬁ?—f FhIE e F, 50 mm FT Iehgal 9T 150 KN F IRAF I
9g L ATl WY dRI EART JH-Fatoid fohaT SATar g1 Ife $E9d & aRl &1 &9%a 188 mm? g, a
FHIT & ToUEYT FAEIUT F FROT F-997 H g AT H E, HR E, F AT 210 N/mm? 3R 35

KN/mm? %F!
Options :

1. % 80 N/mm?




) % 60 N/mm?
3 % 20 N/mm?

4 v 40 N/mm?

Question Number : 144 Question Id : 97675518132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Using strain energy,

which formula is used to find the deflection of the free end of the cantilever beam of length ‘L’ subjected to
concentrated load *p” at the free end?

lP
21 ===
b r .
Options :

_o?
1 % 2EI
2
A PP
7 ® 4EI
PL?
N e

3. 3EI



Pi?
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Options :
PL?
Ase
1. % 2EI
« . PL?
) % 4EI
.
3.«  3E
PL?
4 % EH

Question Number : 145 Question Id : 97675518133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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In case of pin-connected trusses, which method is used to find the deflections of a single joint at a time?
Options :
| % Stiffness matrix method

,  Castigliano’s method
5 w Joint displacement method

4 % Willot-Mohr’s method
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From the above figure,

find out the distribution factor for joint ‘B’ using moment distribution method.

Options :
Member DF
BA 0.3
BE 0.3
L% BC 0.4
Member DF
BA 0.3
BE 0.4
BC 0.3
Member DF
BA 0.4
BE 0.4
BC 0.3




Member DF
BA 0.4
BE 0.3
4 BC 0.3
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Options :

Hgag Bk
BA 0.3

BE 0.3

- BC 0.4




ECRC D.F

BA 0.3

BE 0.4

- BC 0.3
ECpC] Bk

BA 0.4

BE 0.4

s BC 0.3
ECpC] BLE

BA 0.4

BE 0.3

- BC 0.3
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A three-hinged symmetric circular arch has a span of 60 m and a rise of 12 m. Find the value of ‘8" from the given
figure by using properties of circle formula.

= Xm —-‘I

Lo
== 0 m




Options :
1 ® B0=8.928°

, % B=6.028°
3 % H=0028°

4 @ B=7.928°
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Options :
| % B=R8.928"°
) % B=06.928°

3 % §=090928°



4 B=7.928°
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Find out the degree of internal indeterminacy, external indeterminacy and total redundancy from the given rigid joint
truss.

=

i =

-J;» ¢.L» N
Options :

| % I=8.E=4,T=12

, x I=6,E=6T=12

;v [=9.E=3.T=12

L
5

4% I=7,E=5T=12
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& 7% T¢ AT S § AR AAREadr, el sfafRadar d@k gw sfas # Bl Fa #:

L {.L». -
Options :
| % I=8.E=4,T=12
) ® I=6.E=6,T=12

;v [=9.E=3.T=12

4. % I=T.E=

Ln

o e
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Find out the rotational factor for joint *C’ using Kani's method for the following figure.

GhiHS T
T =37
= Im
= 3m 211 :
=2 .1_
i
Options :
Member R.F
CB 0.25
| % CD ~0.25
Member R.F
CB 0.25
) % CD 0.35
Member EF
CB -0.25
3 CD -0.25
Member E.F
CB -0.25
4% CD 0.25

Question Number : 149 Question Id : 97675518137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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i .
.
Options :
CCpc) HH
CB 0.25
- CD 0.25
EERCH =
CB 0.25
) CD 0.25
ECpC] HH
CB -0.25
v CD 0.25
ECpC] HH
CB 0.25
e CD 0.25
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Correct Marks : 1 Wrong Marks : 0.25

A can be defined as a plot of intensity of rainfall against the time interval, represented as a bar chart,
which is used for analysing precipitation data.

Options :
1. % IIAass curve

, % hydrograph

3  hyetograph

4 % depth area duration curve
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A lake had a water surface elevation of 102.91 m above datum at the beginning of the month. The average lake surface
area can be taken as 5000 ha.

Given.
1. Inflow volume = 16 Mm?

2. Outflow volume = 16 Mm>

3. Input due to precipitation= 7.5 1 I’

Lad

4. Outflow due to evaporation = 3 Mm

Find out the net water surface elevation at the end of the month.
Options :

1. % 102.5m

7 % 102.75m

3. ¢ 103 m

4 % 10325 m
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AR F AT H UF T A I Fg F s By Bg (3TA) ¥ FW 10291 m o) Hiwa e w98
&% 5,000 ha for AT =T Tehar &l

fear &

. ¥gag {IST = 16 Mm?

—

]

. g 3TaT = 16 Mm?

3. gYUT & &HEOT HETT = 7.5 Mm?

4. ITSIHIOT F FEUT FEaE = 3 MmS

T % 3d § JoT @dg # Had Faw & 719 1
Options :
1% 102.5m

> # 102.75m
3. ¢ 103 m

4. % 10325 m

Question Number : 152 Question Id : 97675518140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By which of the following formulas can we measure the excess rainfall?
Options :

1. % Excess rainfall = Rainfall + initial basin loss + infiltration



> % Excess rainfall = Rainfall - initial basin loss + infiltration
3 % Excess rainfall = Rainfall + initial basin loss - infiltration

4 « Excess rainfall = Rainfall - initial basin loss - infiltration
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Lysimeters and field plots are used to measure:
Options :

| ©vapotranspiration

> % Infiltration



3 % Drecipitation

4 % Interception
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1. W-anéfﬁ
n ® 3-1?—TF€W:!F-T

3 ® YT

4. % mm
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A catchment has 3 rain gauge stations. In a vear, the annual rainfalls recorded by the gauges are as follows:

Station A B C
Rainfall 80 100 180
{cm)

For a 9% error in the estimation of rainfall, calculate the optimmm number of stations in the catchment.
Options :
1 % 18

) % 32

3« 24

Question Number : 154 Question Id : 97675518142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Question Number : 155 Question Id : 97675518143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Determine the time taken to irrigate a strip of land 400 m? in area and with a discharge through supply ditch of 70.5
m3/hr. The irrigation capacity of the soil is taken as 0.05 m/hr and the average depth of the water flowing over the
border strip is 0.1m.
Options :

1. % 35 minutes

7« 40 minutes
3 % 30 minutes

4 % 45 minutes

Question Number : 155 Question Id : 97675518143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Options :

1. % 35 mimutes
7« 40 minutes
3 % 30 minutes

4 % 45 minutes

Question Number : 156 Question Id : 97675518144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25

A

M
1 Outlets Subsidiary Ditch

EN=-=0 S Cn &=
g

Mmn Supply Datch

Identify the tvpe of flooding shown in the given figure.



Options :
| % Check flooding

, % Border flooding
;. % Basin flooding

4  Free flooding

Question Number : 156 Question Id : 97675518144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Trickle irrigation is also known as;
Options :

| w flood irrigation

» « drip irrigation

3 % sub-surface irrigation

4 » lift irigation

Question Number : 157 Question Id : 97675518145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Question Number : 158 Question Id : 97675518146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the following.

Type of lining Values of Manning’s
Rugosity Coefficient
‘n’ for straight
alignment

1. Brick lining A.0.018-0.020

2. Split boulder B.0.025-0.035

lining

3. Round boulder | C. 0.020-0.025

lining

Options :

| % 1-C,2-B,3-A
, x 1-C,2-A,3-B
3 % 1-A,2-B.3-C

4 v 1-A.2-C,3-B
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=T = Fas FiET)
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1. 3T IAER A. 0.018 —0.020
2. ¥R 98T | 1 005 0,035
HET
3. M Sres C. 0.020 —0.025
HET

Options :

| % 1-C.2-B.3-A
,  1-C,2-A,3-B
; % 1-A,2-B,3-C

4 v 1-A2-C.3-B
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The is used under rigid pavement for preventing pumping and protecting the subgrade under frost action.

Options :
| # soil subgrade

> # sub base course

3 « base course

4. % surface course
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For highways, the maximum legal axle load as specified bv IRC is with a maximum equivalent single wheel load
of

Options :
| % 8170 kg, 4850 kg

, % 8710kg, 4805 kg

3 % 8710kg, 4580 kg

4 v 8170kg, 4085 kg

Question Number : 160 Question Id : 97675518148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
% 8,170 kg, 4,850 kg

1

> u 8,710 kg. 4,805 kg

3 % 8,710kg. 4,580 kg

4 v 8170 kg, 4,085 kg
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Under the design of rigid pavement, find the value of radius of relative stiffness of 15 cm thick cement concrete slab
from the following data.

1. Modulus of elasticity of cement concrete (E) = 250000 kg.-"cm‘z

2. Poisson’s ratio for concrete =0.13

L¥¥]

. Modulus of subgrade reaction (K) =0.3

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :
1. 65 cm

7 70 cm
3. 60 cm

4. 30 cm
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. 3 TIT STafSaT #FT A9 (K) =03

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 65cm
7. 70 cm
3. 60 cm

4. 30 cm

Question Number : 162 Question Id : 97675518150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the spacing of expansion joint (L_) from the given data:

1. Half the joint width = 1.25 cm
2. Thermal expansion of concrete = 10 1076 per °C

3. Temperature rise = 31 °C
Options :



1. % 38m
) #% 39m
3.« 40m
4. % 42m

Question Number : 162 Question Id : 97675518150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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foT o7 o7 | gER SAE & FI (L) F S AT

1. Fr5 #r 3w == = 1.25em

2. FPT F FHT FHT =10 = 100 gfF °C
3. d9AT JiE =31°C

Options :

1. % 36m

) % 39m
3« 40m
4 % 42m
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According to IRC, the maximum spacing between expansion joints should not exceed for rough interior surface.
Options :
1. #% 150m

> % 110m
3 % 120m

4.« 140 m

Question Number : 163 Question Id : 97675518151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ®% 150m

> % 110m
3 % 120m

4« 140 m
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Under the design of dowel bars, for a design load being 5100 kg, IRC recommends 2.5 em dowel bars of length 50 cm
to be spaced at 30 cm in case of:

Options :
1 # 25 cm thick slab

2« 20 cm thick slab
3 % 15 cm thick slab

4 % 30 cm thick slab

Question Number : 164 Question Id : 97675518152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁﬁ(mm%%mﬁﬂﬁaﬁ,S.IDDkga?%?!EHW#ﬁ'G‘,IRC & HATHS H 30
em N I T 50cm FEATS F 2.5 cm I TS HT AT FIAT ¢

Options :

1. ® 25cm Al ToF

R 4 20 cm AR FoIE
3 ® 15 cm HAE FoiF

4 % 30cm AT FiF

Question Number : 165 Question Id : 97675518153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Under the wheel load stress, Goldbeck’s formula for stress due to the corner load is given by:
Options :
)
L% Sc= 4P/h

, % Sc=2P/h’

3 @ Sc=3P/h°

4 % Sc=3P/h’

Question Number : 165 Question Id : 97675518153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ufgar #R ST (e A8 TH) F ded, el R (S ol1s) & FROT Gfawel g Mosdes &1 gF T
g?

Options :
ey,
| % S.=4P/h*
1.2
) % S.=2P/h~

3 @ Se=3P/h’

4 % Se=5P/h’?



Question Number : 166 Question Id : 97675518154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Indian standard code specifies the classification of precast concrete pipes?
Options :

1. # 1S:456:2000

5 % 18:1343:2012
3 18:458:2003

4 % 15:801:1975

Question Number : 166 Question Id : 97675518154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fid AT ARAT HATH F1E, EiATAT (FHEC) FHeple ST & FAR0r I fAfese FHar g2
Options :
1 % IS:456:2000

o % I5:1343:2012

3 v 18:458:2003

4. ® IS:801:1975

Question Number : 167 Question Id : 97675518155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A border region between two adjacent air masses having different characteristics, such as temperature and humidity, is
called:
Options :

1 ® fturbulence

7 « front
3 #% non front

4 u glaze

Question Number : 167 Question Id : 97675518155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R HTear A e Rrevarst arelr o e arg ufEt & & & @A 89 @ Far Far

ST 872
Options :

1. % ferasr

2. v I

+

3 # H-HId

4 % rEE (To1=T)

Question Number : 168 Question Id : 97675518156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

As per IS 2296-1982, which category of surface water can be used as drinking water source without conventional
treatment but after disinfection?

Options :

| Category A

) ® Categorv B
¢ Category C

3.

4 % Category D

Question Number : 168 Question Id : 97675518156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS 2296-1982 & HTER, fFH AU & TG ST &1 3997 oA aRINF FoUa &, oifehed Hremwpiys &
I 9T BT & w9 & AT ST g@ar 27

Options :

1.« ot A
, % SO B
3 % AU C

4. ® 2ot D

Question Number : 169 Question Id : 97675518157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The nature of wastewater produced by mercerization operation Is:
Options :
| % strongly alkaline

» % With high BOD
3 % with low BOD

4 strongly alkaline and with low BOD both

Question Number : 169 Question Id : 97675518157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FELEI0T SiHaT EFRT 3cTiEd IIRISE Aol 3T Wepid [hd aXg @l gl g7
Options :

| % e &N

» % 3=H BOD el
3 % f&&T BOD dTelr

4 v aF & 3T fAs= BOD aTeh

Question Number : 170 Question Id : 97675518158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is/are correct with respect to dyve wastes?
Options :

| % COD : BOD ratio is very high.

, % Dye wastes not only come from dyes but also from the chemicals used in manufacturing industry.
;3 % COD :BOD ratio is very low.

COD : BOD ratio is very high: and dyve wastes not only come from dves but also from the chemicals used in
4  nanufacturing industry.

Question Number : 170 Question Id : 97675518158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& ¥Ofeee F T899 # g 7 ¥ 39 OVF FuT T8 2727

Options :
. COD:BOD ¥ §ga 3% 2T &

. T fe 7 Fae T @ sfow Rfador seitr & sweier e s awer wmer & of s E

2

. COD:BOD 379rd aga fae g &l

COD : BOD 3791 §gd 34 giar § 3R o 3mafiree & Faer T & sfew Rfasior segier & s
4 v BT ST T ToTmE @ o e ¥



Question Number : 171 Question Id : 97675518159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following assertion and reason and select the correct option.

Assertion(A):Copper sulfate should not be used for the control of aquatic weeds, except for algae.

Reason(R): The concentration of copper sulfate required to destrov vegetation will assuredly kill any fish present in the
water and probably exceed permissible levels in drinking water.

Options :
|« BothAandR are true and R is the correct explanation of A.

, % BothAandR are true and R is not the correct explanation of A.

3 % Ais true but R is false.

4 % Als false but R is true.

Question Number : 171 Question Id : 97675518159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Tefea 3fF@eya v srr # aftr 3t 58 TeeT = =97 fifew)
IFFUT (A): AT FT SIETFT FTAT BIITERT F FIAIOT F T FOX TEHT FT FIET Fdr FIAT AT

FROT (R): TATIT F 75 T & BT 39905 FT9X Tohe T @gar Fag v @ 59 7 39ityg
e off Ao 1 AR & AR WA 9 A A AT TR § A0 g e

Options :

| v A 3R R g 5T § 3R R A Fr 3T e g

, « A 3R R A Fe7 § 3R R.A Fr 3fEa saremr 7Er g

; » A TeF g ofhad R 3T B

, & A U § dfhad R TF g

Question Number : 172 Question Id : 97675518160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The compound responsible for causing permanent hardness is:
Options :

| ¢ CaSO4

, % Ca(HCO3),

s % Mg(HCO3),

4 » Both Ca(HCO3);and Mg(HCO3),



Question Number : 172 Question Id : 97675518160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FORAT YT A F AT seaRerr diffs S| ar 32
Options :

1.« CaS0s4

, % Ca(HCO3)

3 % Mg(HCO3),

, x Ca(HCO3), #Y Mg(HCO3), 2t

Question Number : 173 Question Id : 97675518161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of a primary air pollutant?
Options :

1. % PAN

0 #® 03

3.« NO

4 w Formaldehydes



Question Number : 173 Question Id : 97675518161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frefofa el & ¥ #ia @1 wrufie a1y 9qus #T 3@ g7

Options :
1. ® PAN

2. % O3

3.« NO

4. % HIATCSETSS

Question Number : 174 Question Id : 97675518162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The current national ambient air quality standards in India were notified on by the central pollution control
board.

Options :
1. % 18 November 1904
> # 18 November 1984

3 « 18 November 2009

4 # 18 November 1994

Question Number : 174 Question Id : 97675518162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

: > : g 5

HET TguUT fATFUT 1S qANT HRG H TAAE Tog aREsh g TuEear At w Fr
HogRe 5 a3 o)

Options :

| % 18 FI€T 1904

5 % I8 FFET 1984

*

3 18 FEET 2009

4 % 18 FIAT 1994

Question Number : 175 Question Id : 97675518163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is/are correct with respect to carbon monoxide?

a) Carbon monoxide is a permanent pollutant.

b) Natural processes convert carbon monoxide to other compounds that are not harmful.

Options :

| % Only statement a) is true.

»  Only statement b) is true.

3 % Both the statements are true.



4 % Both the statements are false.

Question Number : 175 Question Id : 97675518163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FO AAIHFASE & BT H Feafaiad H ¥ &l @/F 97 T 887
2) O AANFHES T TUHT JETF ¢

b) ITFfae IFATT FEa AAEFIET & 3= AR F 5ea & §, A FFERE T4 8

Options :
| » FOF FUH a) T gl

, v HA FUS b) FA gl
; » S HUT FH g

, x S FUT FTT B

Question Number : 176 Question Id : 97675518164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Read the following assertion and reason and select the correct option.

Assertion (A): Alkenes (olefins) are found to be harmful.

Reason(R): Alkenes (olefins) are unsaturated and highly reactive in the atmosphere through photochemical reactions.
Options :
|« BothAandR are true and R is the correct explanation of A.

, % BothAandR are true and R is not the correct explanation of A

3 % Ais true but R is false.

4 % Als false but R is true.

Question Number : 176 Question Id : 97675518164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e saffeya 9 FRuT #r ofev 33T T8 TeeT #r Taa fifem)
FAFFUA (A): TobeT () TfeRE B 2

HROT (R): BIEIhiAchel HHATHATHT & ARTH T TAERUT H Vorled (HIhed) HEJT AR Icafosh
wfAfFamie g &

Options :

| v AR R 3 77 & 3R R, A F 3fT zurew g




5 % A 3T R 2T @7 & 3R R, A &1 39 =arEar #7872

; « A TcE g A R 3@ B

, « A 30T § 9fFA R T 2l

Question Number : 177 Question Id : 97675518165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of RSPM?
Options :
| % Respiratory Solid Porous Material

, % Respiratory Soluble Particulate Matter

3« Respiratory Suspended Particulate Matter

4 % Respiratory Small Particulate Matter

Question Number : 177 Question Id : 97675518165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RSPM &I qOT & &7 g2
Options :

| % Respiratory Solid Porous Material (IRaed mites 9w #iTe)



Respiratory Soluble Particulate Matter (3793 ﬁ?ﬂﬁﬁ ql'%;—?l‘e" ﬁEQ}

3 Respiratory Suspended Particulate Matter (Y2aed griss LH'I-'ég-}mc, ﬁ?{}

Respiratory Small Particulate Matter (ITEI¥Ed THTA qTﬁ'g—ﬁE‘ ﬂE!)

Question Number : 178 Question Id : 97675518166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Earthworms excrete the mucus-coated undigested matter as:
Options :

1 ® vermiculture

7« wormeasts
3 % vermicomposting

4 % compost

Question Number : 178 Question Id : 97675518166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
é’%gu 5T T H ToRTHE-oNT JOt=g 91T &7 3c8ad #ld 87

Options :

- FH (FHARER)




- FA-FIF (TA FE)

, x T T (FHFATE)

, x T (FUER)

Question Number : 179 Question Id : 97675518167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The largest potential market for the compost is the:
Options :

| % industrial sector

) agricultural sector
5 w textile industry

4 % Drocessing sector

Question Number : 179 Question Id : 97675518167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@E (FOEe) & o gad 937 mafag SR #4787

Options :

. e A




Question Number : 180 Question Id : 97675518168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pick the correct statement with respect to municipal solid wastes.

Options :

| = The larger size of the constituents aids in the faster decomposition of the waste.

» % Thesmaller size of the constituents aids in the faster decomposition of the waste.

5 w The higher is the standard of living, the more is the waste produced.

4.
Both The smaller size of the constituents aids in the faster decomposition of the waste; and The higher is the standard of
living, the more is the waste produced.

Question Number : 180 Question Id : 97675518168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR IIfereRr & 3T F=L & T899 H Tar FUT F II7 HIav|
Options :
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Question Number : 181 Question Id : 97675518169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following assertion and reason and select the correct option.

Assertion(A): The nutrients present in the wormecast are easily soluble in water and thus readily available for plant
growth.

Reason(R): Wormcasts consists of organic matter that has undergone physical and chemical breakdown through the
muscular activity that grinds the material to a particle size of 1 to 3 micron.

Options :

| BothAandR are true and R is the correct explanation of A.
, % BothAandR are true and R Is not the correct explanation of A.

3 % Ais true but R is false.

4 % Als false but R is true.

Question Number : 181 Question Id : 97675518169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T Af@eys 9 FRUT F 9fev 3T T8 TFew F1 Tga fifeT)

Fffwya (A): FA-FT% (FAeEe) 7 39ua Ove Jc7 J9 # T § g @ g AR 36 e
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FRUT (R): FH-FIF J FEfF @ @d § o AR § o § aeaw @ st @k ot
aidﬂ@'dgd{ﬁ%mﬂm?ﬁaﬁiﬂi}llnﬁwmﬁwaﬁgi
Options :

| v A AR 3= 7 § AR R, A # 3 smrEm B

, » AR R3S 7 § 3R R, A F 30T sarear w7 B
; % A T g A R 38T Bl

, = A 38T § AfFa R T &l

Question Number : 182 Question Id : 97675518170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Pick the correct sequence that is adapted for composting of municipal solid wastes in mechanised plants.

A) Grinding or pulverising of refuse
B) Segregation of refuse
C) Receipt of refuse

D) Digestion or fermentation of refuse
Options :
1. # A—B—C—D

7 # C—A—B—D
3. C—B—A—D

4. % B—C—A—D

Question Number : 182 Question Id : 97675518170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Afeliepa HIEl RO F S Fufdnel F T&wd @g @A F w9 #4949

A) 3afirse FF =T ar draer
B) 3afrse &1 quaeRior
C) safirse & wifty

D) F=X &1 A o7 fhvas
Options :
| # A—B—-C—D

, « C—A—B—D
; v C—B—A—D

4 ® BHC—A-D

Question Number : 183 Question Id : 97675518171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The height of the peak sound pressure measured above or below zero pressure line is called:
Options :

| = frequency of the wave

) amplitude of the wave



3 % Spectra

4 % octave band

Question Number : 183 Question Id : 97675518171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¥ 9 YW & FR A A A 7 TRA <3fd g9 & a5 & FqT gl AT g2

Options :

|, e
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s » T
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Question Number : 184 Question Id : 97675518172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct equation that specifies the relation of sound pressure with total atmospheric
pressure and Barometric pressure?

Options :

| % Sound pressure = total atmospheric pressure — Barometric pressure

»  Sound pressure = total atmospheric pressure - Barometric pressure



3 % Sound pressure = total atmospheric pressure x Barometric pressure

4 % Sound pressure = total atmospheric pressure + Barometric pressure

Question Number : 184 Question Id : 97675518172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fol agHSAT g9 3R AHET & g & WY &S g F U H AeAtei@d H W Pl | FHH0T
T T ¥ Afese awar 22

Opti :
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3.waﬁrm=§mm§mmmx%ﬂﬁamm
4.wﬁﬁrm=§mm§mmm+%ﬂﬁamm

Question Number : 185 Question Id : 97675518173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS:4954-1968 (R2014) specifies:

Options :

| = acceptable outdoor noise levels in different types of residential areas



, % acceptable indoor noise levels in different types of residential areas

5 % code of practice for reduction in noise levels in industrial buildings

4.
Both acceptable outdoor noise levels in different types of residential areas and acceptable indoor noise levels in different
tvpes of residential areas

Question Number : 185 Question Id : 97675518173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1S:4954-1968 (R2014) FaT TAfEST Feam &7
Options :

|« TR R & e a9 7 Ee el @ TR
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Question Number : 186 Question Id : 97675518174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a given frequency of 22 Hz, the second octave band would be from:
Options :



1. % 22Hzto44 Hz
> « 44 Hz to 88 Hz
3. % 88 Hzto 175Hz

4 % 175Hzto350Hz

Question Number : 186 Question Id : 97675518174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

22 Hz FT & 7% Igea & T, gl Toaw 93T (FFs T o93) R @ 7 gei?
Options :

| % 22Hz® 44 Hz

» v 44Hz W88 Hz
3 % S8Hz ¥ 175 Hz

4 % 175Hz ¥ 350 Hz

Question Number : 187 Question Id : 97675518175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The rate of doing work by a travelling sound in the direction of the propagation of the wave is called:
Options :

| = sSpectra



, % sound intensity
5 % sound pressure

4  Power of sound

Question Number : 187 Question Id : 97675518175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & SR # fEar & v genuAs afd caRr F aa H & F FAT Fel AT 872
Options :

1. ® EU%'.CEE {W}

0 # eafey drEgan
3, % GATT ETE

4 v St Fr afFa

Question Number : 188 Question Id : 97675518176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



An observer standing on the deck of a ship just sees a lighthouse.

The top of the lighthouse is 40 m above the sea level and the height of the observer's

eve is 8 m above the sea level. If A is the position of the top of the lighthouse and B is the position of the observer’s eve,
the distance between A and B is:
Options :

1.« 3529 km

) ®% 35329m
3 % 42.56 km
4. % 42.56m

Question Number : 188 Question Id : 97675518176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U FE & 2% T TET U Y&l U WHIIEay (SScel3H) 8T ¢l

TeerEas F MY T 99 ¥ 40m 3R e H F SR FHS I ¥ sm gl TG A TERESH *
ofry & foufa @ 3R B Surs &t s & ufar &, o A 3w B & @9 & g e 872

Options :
1.+ 3529 km

» #® 35.29m
3 % 42.56 km

4 % 42.56m



Question Number : 189 Question Id : 97675518177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 chain length of a gunter’s chain is equal to:
Options :

1 % 581t

7 06611
3 ® 601t

4 % 6811

Question Number : 189 Question Id : 97675518177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FET ST (EH TeA) H | 4w () T orwrs Traw F awew g gr
Options :

| = 58ft

) o 6611
3 # 601t

4 % 6811

Question Number : 190 Question Id : 97675518178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A surveyor measured the distance between two points on the plan drawn
to a scale of | cm = 50 m. and the result was 528 m. Later, however, he discovered that
he used a scale on whichl cm = 20 m. The true distance between the two points is:

Options :
1. % 1052 m

7 #% 958 m
3. % 826 m

4.« 1320m

Question Number : 190 Question Id : 97675518178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ue HA&H A FHAS 9 &1 [WgHT & d #F gU F lem=50m & W= 7T YA F AT AR gRomE 528
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Options :
| % 1,052m

) #® 958 m
3 % 826m

4 v 1,320m



Question Number : 191 Question Id : 97675518179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An instrument was set up at P, and the angle of elevation to a vane 4 m above the foot of the staff held at O was 10°30".
The horizontal distance between P and O was known to be 1500 m. What is the reduced level of the staff station Q given
that the reduced level of the instrument axis was 2560.38 m?

Options :
1. % 2786.23 m

> % 2687.89m
3 #% 2568.56 m

4« 2834.54m

Question Number : 191 Question Id : 97675518179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
| % 2,786.23 m

> % 2,687.89m



3 % 2.568.56m

4 2,834.54m

Question Number : 192 Question Id : 97675518180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A vertical circle that is at the right angles to the meridian and that therefore passes through the east and west points of
the horizon is called:

Options :

| = lightascension

o % The visible horizon
3 prime vertical

4 % co-latitude

Question Number : 192 Question Id : 97675518180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 193 Question Id : 97675518181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A section line AB appears to be 10.18 cm on photograph. for which the focal length is 18 cm. The corresponding line
measures 2.68 cm on a map, which is to a scale of 1/50000. The terrain has an average elevation of 210 m above the sea
level. The flying altitude of the aircraft above the sea level when the photo was taken is:

Options :
1 % 219826 m

» % 2896.12m
3 % 2435.69m

4« 257935m

Question Number : 193 Question Id : 97675518181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIEHTE 9T T &S (@ AB 10.18 em TG 2T €, ordes fOT SeRar g 18 om 81 Hafad 1@ A
T 2.68 cm AT ST §, S fF 1/50000 F AHA W §I AT F FHE g W AHT F5 200m FI T
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Options :



| ® 2.198.26 m
> % 2,896.12m
3 % 2:435.69m

4 o 2,579.35m

Question Number : 194 Question Id : 97675518182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The long and short sides of a rectangle measure 8.28 m and 4.36 m, with error margins of =6 mm. The area to correct
number of significant figures is =

Options :
|« 36.10 m?

» % 36.02m?
3 % 36.18 m?

4 % 36.14 m?

Question Number : 194 Question Id : 97675518182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TF IS H a3 B ST FAW: 828 m 3N 436 m g, FHHA +6 mm F I 397 (705w T
TR 37eRT T HWAT AT FT 896 Faar g7



Options :
|« 36.10 m?

5 % 36.02 m?
3 % 36.18m?

4 % 36.14 m?

Question Number : 195 Question Id : 97675518183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In case of the cyeling infrastructure, a low traffic street that restricts cars to a slow speed and grants bicycle priority use
of road is known as

Options :
| = (raffic calming

> % contratflow lane
3 % traffic reduction
4 « bicycle boulevard

Question Number : 195 Question Id : 97675518183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 196 Question Id : 97675518184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the broad-gauge lines, a station platform with a minimum length of is desirable.
Options :

1. % 105 m

5> & 305m

Question Number : 196 Question Id : 97675518184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 105 m

> & 305m

Question Number : 197 Question Id : 97675518185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In case of railway infrastructure, the thickness of ballast for high density broad gauge track is and for medium

density track is
Options :

| % 200 mm, 150 mm
) # 250 mm, 200 mm

3« 300 mm, 250 mm

4 % 350 mm., 300 mm

Question Number : 197 Question Id : 97675518185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e FTEEET & 5oy H, P fr Ao 359 udc §1E 9 &% + v g 3T Feusn gaee
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Options :

1 % 200 mm, 150 mm
) % 250 mm, 200 mm
3 o 300 mm, 250 mm

4 ® 350 mm. 300 mum

Question Number : 198 Question Id : 97675518186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In case of road infrastiucture,

the seven-phase NHDP is being implemented by the National Highways Authority of India (NHAI) with a total
estimated expenditure of

Options :
1. ® USD 81 billion
7 « USD 92 billion

3 % USD 76 billion

4 % USD 86 billion



Question Number : 198 Question Id : 97675518186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| = $81 e
, v $92 Teferms
; = $76 TEferms

4 % $86 Teferos

Question Number : 199 Question Id : 97675518187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under waterways infrastructure, a/an is a long excavated chamber, having side walls, a semi-circular end
wall and a floor.

Options :

| = floating dock

> % lift dock
3 « &raving dock

4 % marine railway



Question Number : 199 Question Id : 97675518187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 200 Question Id : 97675518188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A fluid in which the shear stress is directly proportional to the rate of shear strain is termed as:
Options :

1. % Real fluid

2« Newtonian fluid
3 % Non-Newtonian fluid

4 % Ideal fluid



Question Number : 200 Question Id : 97675518188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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